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| ABSTRACT
’/
This thasis examines certain aspects of the interfer=-

ence from motger fonmue English in the learning of French
as'a spcbnd'lanauaze. A éBrpus of errors was selected from
the written campositibns and translations of first- to fourth-
year university Btudents.; Those errors whose source was |
deemed to be in%e;ference from English-were classified under
the general héadings of lexicqn. syntax and morphology,
Further subgdiyisions were made to try to account fof as
naﬁﬁ types of error as possible, but the data did not cover
a;l the'areas of ;rammar where 1nterfegence might occur, An
attempt was then made to explain the source of the interfer-

.ence, based on a contrastive analysis of the given structures

in both languages, It'w

found that the greatest variety .

e

"of errors occurred in the, morphology section, whereas the
< . . -~

' greatest number of eyrors were ejther lexical or syntactical,

The thesis emphasizes the facy/ that the mother tongue is

of ten ; souree‘of 1nterferencé in second language learning,
that differences and 'similarities between ianguage structureé
should be pointed out in the classroom, and that some areas
*of language teéchiné may be‘Bettér taught if based on a con-

trastive grammar of the source and target languages,
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1. INTRODUCTION

1.1' The problem

Thfg study was.pfompted by the frustration experienced
as a teacher of French as a second langﬁage to first-year’
university students whose mother tongue is Erglish. These
gstudents, of Memorial University of Newfoundland, made so
many errors.land of such various kinds, that it appeared im=
probable that all of these errors were due to cafelessness or
improper learning on the students' part, It was therefore )
decided to examine'qome of these errorf{ ~ those which seemed
due to.interference ffom the students®' |native language, English,
Consequently, this essay has been written from the point of ,w'é

. ..

view of a teacher, a teacher faced with very practical prob- .

lems in the classroom, It was felt that a contrastive analysis

Cw— -
s .

of errors due to interference from the mother tongue would
make us more aware of the pattern c&ﬁflicts betweeﬁ Frengh and
English, and more knowledgeable about ithe way a lea;ner learns
a secﬁnd languageh
1.2 The project \
Our intended pﬁbject is to da an énalygis of the'érroré :
due to interference.from English; We hope . to find out how and
why English interfered to cause the errors {n.French; Our
approach is based on the pring}ple of coétrastive linguistics.
which is the systemafic comparigson of two ;anguazes fo discover

and describe their differences and similarities,, This compar-

ison then provides a basis for an analysis of errors made in.

~
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one or the other of the lanrFuares, It may alao be used as a

point de départ for teaching the structure in which the

particul&y error was made, We will examine errors made not
only by f{}qt-year students, but also by students at various
other 1evelswfq their study of French.‘including the fourth-
year level, It was assumed that at the more advanced levels
studénts\would gener?lly ﬁof make carelesé mistakes, so that-
most errors which would occur would come from other sources,
such as interference from English, or from improper learning
of the particular étructufe;”or'pOBSEbly from interferenée
from the target language itself,

Our corpus consisted of interference errors observed in
and randomly- collected from the essays and translations of
first- to.fourth-year‘students. Having'gathered the daté. we
then Qttempted to,classify these~efnprs as belonging to either
the.lexicon,'the syntak, or the morpﬁb}ogy 3f the target lang- .

uage, Prench, Each category was further\sub-diﬁided to try to

account for as many types of interferencg‘hg possible, The

- classification of the errors proved to be a %ery arduous task,

‘because it is difficult to apply the¢se categories rigorously,

Consequently, there may be cases where it could be argued that
an error has been wrongly placed, since the categorizing was
sometimes a matter of judgément rather than of a self-evident

taxonomy, It was often.difficulp to determine exactly what .

. kind of error had been made and into what category to place it,

and occasionally an error fitted into more than one éatégory.

It was often nécessary to draw a fine (and sometimeS'arbitrer)'

3
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line botween what constituted a lexical error and whl: con- v

A r

actitutes a prammatical oﬁe. or between errors of gyntax and
thése of morpholosy. The crrors treated in thiu otudy were
noted in the written work of students learning rench as o
éecond.lan"unweki). conseauently, no account has been made
o phonolosical incerferencg from Enrlish, HNor has any'
attempt heen made to.apply statinkics b this stud&. bhecause
our main }ntent_is not. statistically-oriehted; but is simply
an endeavoﬁr to find out how and wh& Enrlish has interfered
oot
w}th thense gstudents' learning of French, and if 'possible,

o draw some conclusions about the learning problems of the

‘student, ' . ‘ . ~ .

. N . l}

- Qur approach. will be first to discuss briefly the
- phenomenon of interferénce. then to look a*\ the errors in
each caterorv, and under each suq-headina..to try to explain’
*he interference that caused that error._ ﬁe will .be using
%he prlnc1ple of contrastive analysis, not:ng where the.
differences  occur beéween #iven structures in the two lang-
uages. ’ | .
Ne have not attempted to make an exhédstive-studv_of

all the areas of grammar that may-be influenced by the mother

L]

»

.tontue, Only the examples from our corpus have been exam-

inea, so that we have made our analysis fit the data, rather

; v a -
o .

.

e

(1)  The'examples in French that are numbered and that are
.preceded by an asterisk indicate the errors that-have been
selected from our corpus, Sometimes an example may contain
‘errors other than the one we are discussings these errors -
have been left intentionally, as we have chosen to present
the examples as found,
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‘han colleet dnta to aupport our theaia, Consequently, there

are areas of psrammar which we have left untreated nimply be-

T
cause these were not represented in our corpus of errora,

hut where therec may well he interference from the mother tonsue,

. N B

¢.f, the subjunctive, irregular verbs, formation of the plural

™

of édjectives.

. In the text of our essay Qe have 1fsted and discusaed
g ﬁamka{Tcrent types of interference as occurred in our

data. However, we have not listed'in the text all thenexampleé
of the particular tyne of error, Where there were additional

examples, these have been listed in an appendix to each (N'

chaoter,



: 2, WHAT IS THTERFERENCE?

William hackev defines interference as "the une of

oy

clements of one languase whlleIQpeakLnﬁ ‘another" (1970:1195),

v 2

mhis derinititmis one of the few encountered in the liter-
ature which acknowledres that inter{erence takes place at

" ’ EL
" other levels of Myrdare than the phonological level. Since

"thin essay deals with grammatical and lexical interference

in written ‘rench, Mackey's definition seems a rood start-

R 7’

ing point Tor a brief discussion on'what interference is,

why it occurs, and how it can be identified and destribed,
¢ ¥

FProm the osycholowlcal point of view," fh erference

comes under the title of neﬁative transtfer,  According to

Jakobovi‘s, . .

"transfer is perhaps the sinfle most important
concept ‘in the theory and practice of education,
In its seneral form, the principle of transfer
- refers to -the hypothesis that the learning of
task A will affect the subsequent learnines of

) task B, and. it is .this expectation that. Just1f1es
. educational training.in schools as a form of

Dreparatlon subsequent demands tha: society will
impose upon the individual” (19?0 188),

If the learning of. task A facilitates the learning of task B,

this is positive transfer, .If, on the 6ther hand, the

learninz of task A impedes'the learning'bﬁ sk B, this is

‘negative transfer, or 1nterference. and in{sesond languaze
learnins it occurs when the -deeply embedded strucgures of -

the native lan?uage domlnate durlng the learning of the other

‘lanfuaze, This then causes the learner to make errors in

the foreien languaze, From the besinning of second language

. Y
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.analygsia was advocated three decades ar 0 bv Charles Friess

6

learning, the learner muagh be taught to obaerve the ditfer-
cnces hetween hiﬁ mother tonFue and the target lansuare, .
and not tausht the latter as if it were a codification of
the mo%her tonsue, Thios principle of teacﬁing by contrastive
G
"The most effect;ve jteachlng) materlals are those that are
based upon a 1., dgscriptibn'of'¥he language Lo be learned,
carefully compared with a parallel description of the native
languare of the learner " (l9h§q9). |
Many applied linruists and nearly all lanyruare tea&hers
are firmly'convincéd that interference ddes occur in second
;annuaﬁe learning, and their beliefs are supported by such
lin~uists as Lado, Qho sayss
‘ "We know from the o£éervation of many cases that
the grammatical structure’'of the native lansuage
tends to be transferred to the foreign,,..we have
here the major source of difficulty or ease in

learninzg the foreign language,..,. Those structures
that are different will be difficult” (195715%8,%9).

Mackey agrees:

"Much of the difficulty in learning to speak a
second language (arises from the fact that)
deeply ingrained patterns of (the learner's) \first
language will interfere with those of the language. -
- he is learning. When a situation presents itself,
<he stronger associationg of his first language ’
will unconsciously respond ..," (1965:109)

While it is true that interference from the native
' R : .
;anzuaze is not the only cause of errors made by second lang-
uace learners, it is probably the prime cause, Catford has

saids

"On pourrait dire que le plus grand obstacle 3
l'acquisition d'une seconde langue est la possession
prealableQSe la langue maternelle” (196318?

-

.‘L
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- "Po gum up what hag been tound about the gources of
larre rroups of crrorgs we may say that while inter-
ference from the mother tonysue plavs a role, it is
not the only interferins factor™ (1969:125),

Aloo, according to Brooks,

... a certain ‘amount of interfcrcnce and distortion

will often be induced in (the learner's) periormance -
in the new lanruage by the mere pregsence in his head

of the-words and patterns of the mother tonrue" (1964:55),

There seem to be.a number of reasons why -interference
takes plate, Language is a system ghrodnh which the usger
orranizes his thoughts and expresses his experieﬁces of the
world When he learns a new languaqe he has to learn Lo,
orpganize his experiences in a new way,. becauge this 1s one'
way in which lancuage systems differ .- their speakers-organizé

: -
their experience of the world differghtly.l A languace is

also a gsystem made up of structures whose parts or elements -

6

hafe a certain mutual relationship as opposed to a mere

adcumulgtion of mutually independent items (Malmberg 196315),
The numbqr of elements in a lancuage structure -is limited,-
and the functions of these elements "are determined by their
relations to the other units with which they are combined,

" within a .system of communication possibilities (a paradigm),
and within the actual speech sequence, the chaln (or the
syntagm)™ (196315). In a contra;tive analysis of two lang-
uages, it is generally found that they have certain structures

in common, but also that one language contains structures -

which are exther dlffer;;;‘??am or non-ex1stent in, the B

other lanruare, Therefore, where the structuresof the new

N | o~
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"syatom (the tarrmet lanruage) do not correspond with the old
(acquired) system (the source lanruage or mother tongue),

[

there will be interference hetween the two gystems, and the
leagger of the tarmet language will often make errors be-
cause of this interference, |

Larruare may also be considered as a férm-of"behavior.
The learner has been speakin’, reading and writing his mother
‘ﬁongue for many years, and fhe structures and patterna of
that lansuare are so strongly inzrained as to be habits,
In learning a second language the learner must often alter
his lanruage behavior to accommodate new structures in the
rarpet lanauagé, because, as Politzef says, “"Different
languages may use difrferent methods, to expresé structural
nelatjonships and fq engeés the grammatical meaning of a

.

sentence” (1970:184), - For example, what is expressed lexically

- in one lanfuare may be expressed syntactically or phonolog-~

ically in another, Thus the d;gtihctiqn between the sentences
"He wanted to leave” and "He tried to leave"” is a lexical

one in Enrlish, whereas in French it is.a grammatical one:

11 voulait partir and Il voulut[a voulu partir, respectively,

(Examples from Mackey 1965197). Sometimes great difficulties

\

_are encountered when a known structure in one language is

‘represented in another by several structures: e.g: Je parle =’

J

7 talk, I am talking, I do talk, I have talked, I have been

talking, I speak, I do speak, I have spoken, I have been

speaking.‘(depending Sn‘thé context), (Examples from Hewson'

1972:79),
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. »
in a learning gituation, if the learner does not know

a particular structure in the new language, he will try lo
bridae the'nap by using the known structure from his native

lanvuage, Since, however, as we have sald, one languare is

not a codification of another, this kind of procedure is

g |

rarely successful, and the learner finds that he has made
“an error in the foreifn lgnguage because'of:thq.influence
of his mother tongue, In other words, interference has
~occurred because the learner has tried to aﬁply to the new
language the structures and systems 6f his native language.

- Y

P
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3. LEXICAL IN&ERFE%ENCE

3.1 Lexical multiplicity
' .Errors of this type occur because bften English has

seve£;1 meanings for one word, whereas French has a separate

worq:for each of these meanings, One of the most cbmmon ex-

amplés of this is the word "t%me", whose total range of meanings

includes those of French ggig: ggmpg‘and heure, When the learn-

er confuses these terms in French and writes such sentences as

| - (1) *C'est le premier temps qu'il visite la ville,
‘(2) *Savez-vous le temps? . |

it is because he has failed to make the distinction between

timel (occasion) = fois

time? (dimension of the universe) ® temps
time3 (by the clock) = heure,
a distinction that he is not required to make in English, o

A similar type of interference occurs between the prep-

ositions "until" in English and jusqu'd and avant in Prench,
Eﬁglish uses the same preposition "until”™ in both ﬁffirmative
and negative sentences, ?of example,

(a) I'11 stay until eight o'clock,

(o) 1 Qon'; go until eight o'clock.

B P d o W VO

In Prench, however, there are two different prepositions to
translate the ”Until"i‘one for the affirmtive sentence,

(a) Je resterai jusqu'2 huit heures,

and one for the negative sentence,

-

(v) - Je ne partirai pas avant huit heures.
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Confuaionlof thege two prepositions, hecause of inter-
ferénce from English, often results in the gtudent's writing
an incorrect sentence such as

(3) *Je ne paréirai pas jusqu'd huit heures,

This type of error results from the facf that diffefent
semantic areas dre sometimes covered by the allosemes of one

word in English and by several words in French, Diagrammat-

iballys
English . _ French
meaning 1 meaning 1 = Word 1
meaning 2 Word meaning 2 = Word 2
meaning 3 meaning n = Word n

This probably explains an error such as

- -(4) *Nos amis ont promis de nous fencqntrer A l'aéfoport.
The verg-rencontrer is just, one o?lfhe many possibie trans-
lations of the English "to méet”. ang in the above example it
has béen‘uséd‘in an imprdber context, Because the learner.does
not have to differentiate inhEngfish between the different .
meanings of "meet", he assumes that French works the. same way ,
and so he uses the most familiar word {to him) for "meet" -
inbthig case, fencontrei., -
3.2 Basic dictionary erroré' _

‘Errors of this type tend to reflect a glaring misuse

of the dictionary, especially if the léarner hés misunders?dod"
the particular léxeme in English, ?or example..the gentence
"Ke arrived at a level crossing,” produced the following_trans;

lation from a thirdfyear'studentz
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() *I1 arriva 3 une croinée des chemins en palier,
It scems obvious that the studen® dig not understand the. mean-
ing of the compound noun "level crossing", and reparded it
simply as a noun modified by an'adjective, Therefore, with
the help of-his dictionary, he tranaslated "crossing" by une

croigée des chemins and "level"” by en palier, which, since

it was suppéseg to be ar ad jectival phrase, was piaced }n the
correct position after the noun, The student has erred in
French because the misunderstanding of a lexical item in Eng-
lish lead to the creation’ of a structure in French that corres-
ponded to +he one in his native language - that of .a noun
modified by an adJectlve. -

Interference from English is also the cause of errors

1

such as the followinga

. .
(6) *(I1 y a) des conferences ‘que les étudlants ne
sont pas oblxges d‘attendre.

. (7) *Si vous attendez un diner frangais ..,

?

(8) #J'étais tres fatigué, mais je n'avais pas le /
temps de rester. : v

These errors have occurred because the student has used a
lexical item in Prench which is graphically similar t°.tﬁf
Enzlish word which conveys the meaning he wants to express.

For example. French. attendre looks like Engllsh attend". which
is what the student meant to say in examples (6) and (?) above,

but which should have been rendered in both cases by the verb

assister 3, Such words as attendre and réster in French, and

"attend” and "rest" in English. are examples of faux amig,(1)

(1) See Vinay-Darbelnet, p, 71-74, for a definition and-
digcussion of faux amis,
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where there is a cbnnidernhle resemblance of forms and some-
times some overlap of meaning,

Sometimens a lexical error -resulting from a misuse of
the d%ctionary.can be quite amusing to the recader, The follow-
inm centences Are examplest

(8) *Je dﬁTs\ib'ventilateur de John Wavne,
A rather stranre occupation for a student - but he' obvioucly

intended to say that he was a fan (admirateur) of John Wavne,

(10) *#Les chasse-neinb ont enlevé les rues,
The student intended to°say that the snowplows cleared‘the
streets, but he did not realize, after writing this sentence,
that +<he snowplows in his I'rench sentence did a lot more thanA
did *he snowplows in his English sentence, There seem “o be

two possiblée explanations for the error in this example,

Firstlv, the student may have known the expression enlever le

couvert, meaning-ua "clear the table", and on analogy with

this he wrote *enlever les rues., Secondly, the student may

not have realized that in English the expression "clear the
stfeets" is, in this context, a shortcut, meaning "clear the
snow from the strgets". In Frenéh, the verb enlever takes

as direct object the thing whiéh is cleared aw%yf and not

that from which it is cleared, If the student chooses to use
enlever, he must keep in mind that the primary meaning of
enlever is "to remove™, and so he must say exactly what is
removed, In the above case, it is not les rUes..but la neise.
| Perhaps one of the classic errors in- this categofy came
from a first-vear student who was describing his firsf plane

ride, He said:
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(11) . *Les rnuares ressemblaient A des hémorroides de
neiye,

The student wanted to say that the clouds looked like piles
of snow, and he looked up the word "piiea" in the dictionary

and found. hémorroides, Since this word is a cornate of the

.Enrlish "haemorrhoids”, it seems rather obvious‘that the
.student‘did not understand that word in Enslish., The result
is an error whieh i3 amusinm to a bilingual but incomprehens-
ihle to a native speaker of French who does not know Enalish._
3.3 Phrasal verbs

There were numerous errors made on-phrasal verbs, some-
of which are phrasal in Prench, and others phrasal in Eng-
lish, or exaﬁple. |

.(12) *Le contrdleur nous a demandé pour nos billets,
hés an error (the ifclusion of pour) because the verb."to ask
for" is ﬁﬁrasal in English but simple in ?wench - demander,
'Therefore. pour is redundant in the above example, Semantic-
ally, the simple verb demander covers in one word what "ask

-

for™ does in two,

In thé above exaﬁbleJ the ;rror was the inélusion in
the sentence of a preposftion that was semahtically redundant,
waever. in the following example, the reverse has océurred -

the omission of a preposition that is a necessary part of the

particular verb used,

0

(13) *Nous avons eu travailler,
Here, it is the preposition 3 which has been omitted, .The

student has done a litéral translation based on how he had

*

\
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[IRg ’
grouped his English sentence, and this appears to have been
1 ]

"We had / to work", He may have thought that because the
infinitive is marked morphologically in French (in above ex-
ample the -er ending) it would have been redundant to include

the preﬁositio; 4, But the verb avoir has to have the pre-

. position A (thus making it a phrasal verb) in order to express

the nafion of obligation or necessity, and this A .must be ex- \

pressed in the sentqnce. _ |
Frequently, errors on phrﬁsal verbs resulted in faulty

syntax in the French senteﬁce. The following examples are not

syntactically correct, but the source of the error lies in

-
v

the phrasal verb:

(14) *Le repas frangais ne ressemble pas celui du Canada,

(19) *Les gené ressemblent bien ceux que je meé souviens.
In both sente;ces}the learner has omitted the § of the phrasal
verb ﬁessemﬁl r 3, and has employed the construction ressembler '+ '
direct object, whiéh produced an'ungrammatical sentence, This
error has probably 6ccurred because the verbs "resemble” and
"look like"” ‘both govern direct objects.

The verb se_souvenir (de) éf.(ls) is also phrasal, but
has a simple counterﬁart in Engligh - the verb "to remember”,
Sinii\fhere is no‘p?epdsition needed in English before the

direct object, the student has omitted the necessary preposition
in example (15) above,
Other examples of errors on phrasal vérbs afe as follows:
(16) *Nous avons passé beaucoup dé magasins, N

Here the preposition devant has been omitted, Passer devant

(quelgue chose) is not a set phrasal verb in the sense that

-
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ge_souvenir de (quelque chose) in, because the verb pagger

can be uzsed by itself or in combination with other prepositions
such as par and A, But pagser devant differs semantically

from gansgr.par. and thege two differ from gassér A, 8o that

a gpecific combination of. passer + preposition, in other words,
a specific phrasal verdb is required to express a specific se-
mantic notion., In the Eﬁaliah equivalent of example (16) above,
"We passed a lot of stores", the verb "to pass" is gimple and
trqnsitive it does not mean "to pass in front of“, The phrasal

h
verb pasger devant is required to express that idea, -

(17) *I1 pense de tout,

4
-

(The English context was “"He thinks of everythin@"). The verb

penser can exist in non~phrasal form, e,g. On pense des pensées,

or in phrasal fo:h, in combinations with the prepositions
A and des
(a) Il pense 2 sa femme,
(b) Qu'est-ce que vous'pehsei de ce. £ilm?
Penser 3 means "to think aﬁout, to think of", in the sense
of "to direct éne's thoughts towards”, Pense; de means "to
have an opinion of something or someone", Both have the common

English translation "to think of", So when this student wanted

to'write in Prench "he thinks of everything", he wrote a word-

for-word translation - *I1 pense de tout, because of the inter-

ference from Engliéh. :

3.4 Idiom
In this section on lexical idiomi;ge will look at some

errors in the construction and use O{Lcertain expressions which
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are ldiomatic in French, but which may not be so in Enrlish,
(18) *Nous avons voya;é autour du Etats-Unis,
Here the student has given a literal translation of Enpglish

"to travel around", The idiomatic expression for this in

French is faire le tour de,
(19) *Cependant grand le péril,

This translation error was made by a third-year student
. . "
who did not realize that the function of "however"” in his"-

English sentence "however great the danger" is that of. an
L J

intensifier, and not of a senteme particle, But in his Prench

‘sentence he wrote the con]unctlon cependant instead of thg-

_ gx~“
correct idiom gi grand 1301t) le péril, L 4<3.
(20) 'L{aimez-vous ici? . " "
This is a student's attempt to ask in French the question “\_ %{:

-

" Do vou like it here?" (The context for this was a person

asking his neighbor if the latterliked the new location to '
which he had just'moved). In the above example "(20) the error o
is caused by the intﬁg?érence'from English of the impersonal

"t
pronoun "it", In the English question, the "it" has no direct

/

rngnéncé. The "it" is a k1nd of filler whlch serves as a -

complément to the verd llke which cannot normally be used

N
_ impersonally in thls sense. without any reference whatsoever,

Prench_has the pronouns ceci, ce, cela, and ¢a which are used
with the verb plaire to form the idiomatic coéstruction Cela
yous plaft ici? Thg-gg;g is explet;vé and does not have a
reference: """ '

(21) ‘Il'était~seu1 six,

rhis'is really a gross calque, a word-for-word translation
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~

of the anliQh “"He was only six". The learner eitﬁer did

not know, or else forgot, the idiomatic expresnLon a201r ang -

\
“to be X years.old".

(22) "..il yétaitoe. -——’"

In this example, there seems to be both interlingual

and intralinrual interferepoe - fram the native language and

e

also from the target language, The interference from English

"is evidenced by.était (was), but the il.v.,, doas not corres-

pond to anything in the”English "there was"."It seems that
the learner had previously met the }dlom ii Y a. but had be-
come confused. or had forvotten that the verb in thlS express-
ion is avoir, not 8tre,
(23) *J'avais trds faim et fatipgué,
Here the learner has'fueed two French cbnstructione,
one idioﬁetic and the other non-idiomatic, This is an example
of interference because ;6 English he can.cover the two semantic
notions, -of being hungry'end beihg tired. with one verc. ”fo

. Y
be", In French, however, "to be hungry" is rendered by the

idiom avoir faim.'whereasuthere is n

b4

expression "to be tired", but 91mp1y~the

'c1a1 ;d;om for the

rb étre and the
‘ . B o

ad jective fatigg' So because in: one qQase French has the

verb avoir ‘and in the ot"hex‘ %ﬂ!’warb.-étre 'nln-theé one verb

wor the other can gpammaclcally express both xdeas.

X C e et L . . .:‘
. L. - ‘e
(24) *Je vous manguey. .

Taken in itself, jekveus.hangue is”a'perfectiy gram- .
mat}cal sentence. #hy it is being’ consxdered here - as -an error

is because it is not tH‘ cqorrect construé*1on-ﬁor the context

1 : -

P o
B

N,
v
-
—
14
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Wwhat was required was vounmp’éanqueg (i,e, T miss you),

in example (24) ﬁhe lcarner hag produced a grammatical form
whose particular syntactic arrangement results in a semantic
ihterpretation other than the desired one, What really caused
this error. wag an idiomatic misinterpretation of' the verb
manquer, The student may have already been familiar with the
construction j'ai mangué le train, Ennlis; uses its regular
word order (subject-verb-complement) in both this sense of- T
"miss" and in the gense of "to notide with regret the absence
of ,,.". However, when the verb'megguer is cied in this lattec

sense, there>is not a one-to-one correspondence between the

syntax of ~-the French sentence and that of the English sentence,
The patterning is the 'same - subject-verb-complement, but the
grammatical subject of the English sentence is "I", whereas

~ '
in the Prench sentence it is vous. The syntax of the French

’ sentence 1s not na tural,to the Enpllsh learner to express the

concep* "I miss you" The syntax of‘the English structure
dominated and as a result he produced the form *Je vous maggue.
In order to produce the correct idiomatic form in French, the

learner may perhaps have to re- 1nterpret the verb manquer, in

" the sense of ‘to lack" - The sentence "I miss you" will then

become "Vou are lacklng to me" and then the learner should
nct have any problem producing the'form Vous me manquez. .

The following errors are'fdrther examples'of idiometic
interference from the English construction, which has resulted
in an attempt at afdiredt translation - and the omission of

R 4

the correct idiomatic expression in Prenchs .-
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T
1/125): #La route etait vide dans les deux directions,
{

£

(26)4 *(Tl a 5arlé) sous gon gouffle, ' . Cr

(37) *(I1 devient) plus et plus malade,

(2R) #*J'al pris un voyare,

»t
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I, SYNTACTIC INTERFERENCE

Tn this study we are ugsing the term syntax to appy to

. the grammatical and meaningful arrangement of words which\.
. s
produces a sentence, Under syntactic interference we will
include'errors of word order, omission of ﬁéceasary articles
and prep051txons, and a "grey area” which we have called
"unsatisfactory construco}ons . Into this latter category
we have put constructions whose-syntactic patterning_was
fault& in some way, but which did not fit into either of the
other two sub-divisions, Again, it was sometimes difficuit
to classify certain errors as syntactic only, .and not iexical
or morpholosical, This kind_of'rigorous classification would
_demand that we observe clear boundaries between the lexicon..
the syntax and the morphology of a given language, whereas it
is our belief that no one of these areas cah be deseribed
accurately without attention to the others, Consequently, as .

with the errors from lexieal 1nterference. we have relied on

our Judgement for the categorlzatlon of - the syntactiec errors,

..

LI ~?ord order '

In'this section on word order we have put exampies of
errors. in Wthh the adverb. adaectlve. negative particle or
pronoun has been placed in the wrong p031t10n in the sentence,
These’ oategorles of parts of speech in French are understand-
ably subject to interference Trom'ﬁnglish because the rules

.governing their position in the sentence are often different

.

S
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from those of Enrlish, For example, the normal position of

the French adjective is after the noun, whereas in English

'adjectives normally precede the nouns (there are a few ex-

ceptions, Wi "proof g%s;tive"). ~Similarly, pronoun objects
normally follow the verb or infinibive in English, whereas‘
in French pronoun objects precede Qhe verbal fdrm, except

in the imperative affirmative, We shalllnow examine some

errors in the caterories to see -how the French.structure was

influenced by English,

L,1.,1 Adverbs

(29) *#I1_avait aimé la vue beaucoup,

Here the adverb beaucoup has begh\ifsgrrectly pléced

. at the end of the sentence instead of after the auxiiiary \

avait, Interference from English is evident here as the

'stgdént'has followed the same word order as he would have in

English - "He‘liked the view very much®,
' (10) *I1s toujours m'aident, .
(31) *,.. le type qui toujours tire la pitié.
The éqrerb toujours is one which frequently gets mis-
placed by learners of Prench whose native language is Engliéh.
This is due to interferenge from English whére tﬁe adverdb

"always™ generally occurs before the verb in a simple tense,

~ For eiample,

(a) I always go to the beach on Saturdays. -
(b) Timmy always puts his shoes on the wrong feet,

However, in a compound'tense. in both Prench and English,
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“always" and toujours are placed between the auxiliary and

(2)

the pagt participle, For example:
(¢) He had always gone to school by bus,

(d) 11 était toujours allé A 1'école en_autobus.(B)

4L,1,2, Adjectives
(32) *.., les autres trois saisons ...
In French, the adjective agtre(uz if accompanied by a

14 .
number, is placed after that number, so the correct version

of example (32) is ;es-t?ois autres saigsons, In English, the
word order is "other + number + noun“. and it'is-this pattern
which has probably influenc;d‘the ledrner .and caused him to
make the error (32),above‘ . .
- (33) ?:.. la .toute compagnie ...
In this example of incarrect word order.‘thg error'was
dﬂe‘to interference of the English word pattern - :%hé whole
company".- When a student learns the position of adjectives

in ?rench, he generall& learns thaé ad jectives are placed

“after the noun, .except for a few frequently=-used adjectives’

Iike grand, petit, beau, etc, which are placed before the noun,

- But this iist is a closed one, limited to about eight ad jectives,

{(2) There are six common temporal adverbs in English which

take ‘that position - always, frequently. never, seldom, some=.
times, usuallj-,

{(3) It is interesting tb note that in the data we collected
there was not .a single example of -an error in the. placement

of a temporal advérb in a sentence where: the structure in both
lanzuages are syntactxcally similar,

(4) Also, grem;er. dernier, prochain,

-
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and it other adjectives are placed berore the noun then it ig
to creafe a spec1al or stlestic effect, However, as we have
said, adjectives in Enplish generally precede the noun, so it

seems that error (33) was caused by interference from the

,pattern of English,

It is curious, however, *hat the adjective tout and 1ts
variants generally do not follow the rules for the position-
of adjectives in French, in that tout is, in most cases,

placed neither directly bgfore nor directly after the noun

4

‘it modifies, the exception being the position of tout (or a

variant of it) in a structure such as toutes sortes de véte-

ments se vendent dans ce magagin, where there is no article,

In this sentence toutes qualified the noun SOrtes,‘and 80 its

function, here is similar to that of most adjectives in French.

However, when there is an article, as in example (33) above.

toute does ndf‘df;anz;x_ﬂgalify the noun compagnle. but rather

modi:ieé the unit la ‘Compagnie. Thus, la compagnie is seen
as a gigne in itself, with la funotioning as its grammatical
form and _gggggni_ as its 1ex1ca1 content,

Each of la- and compagnie has of course its own form and
content, but when they combine, they relate to_eaqh other
as form and content of a new, compounded notion, Toute is
then exterior to the combination of the two, as ls "all" in

Engliéh in'a similar structure, We say in English, "It's a

A\ . .
v big family™ where an adjective like "big" is interior to the

form and content of a noun and its drticle; But we have to

say "All the family is here", because "all" is predidated
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of "the family", and not just of "family". "All" and tout
are both exterior to the form and content of the linguistic «
units that they modify, Most other adjectives in English
and French are notionally interior to either the content
(as in English) or the ¢form (as in French) of the noun, and
so are predicated directly by beins placed either directly
before or after the noun; .

o g
4,1,3, Negatives _

(34) *Je ne veux faire ne rien,

"Incorrect word ordeér occurs here in Frencﬁ because fhe

pronoun rien should have been placed before faire, of which

| it is the object, . English word order is different - "I don't.
want ﬁo.do énything“ - in that the object is placed after

the infinitive, fhis English word-order pattern may have
interfefed to qauée-the student.zo.make the error in French.
_But there may have been an&ther'ﬁype of interference here
éléo. fn the English gloss we have given, the pronoun "ahy-
thing” fo;lows'{he infinitive of which it is the obj®ct.

But English word order would also ﬁermit "I don't want any-
thiné to dé“. althouéh this sentence is different both'gram-
_ matically and semantiéally from fhe one above, These two ’

sentences also ha@é différent_translatiq%s‘in Frenchs

(a) I don't want to do anything
(b) Je ne veux rien faire,

(¢) I don't want anything to do.
(d) Je ne veux rien A faire.

. In (a) and (b) the pronouns are objects of the infinitives,
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and in tc) and (d) they are objects of the.verba. So the
'studqnt may have thought that _;_# could be placed hefore
or after the 1nfinit1ve, as can "anything" in the English,

It was the meanxng of (a) that the learner wanted to convey,
but he chose (1ncorrectlv) to put the pronoun rieh after

the infinitive, A |

G .
4,1.4 Conjunctive pronouns ot

(15) *Elle les me montre.

The student has placed the‘ﬁronoun ob jects iﬁ the wrong
order. He has followed the order of the pronouns in the
English “She shows them to me", where the diredé object prg;'"
cedes the indirect, The learner realized that the pronouné
were to be placed before.the verb, but the pattern'of the
‘A-English'ééntence dominated and he followed this word order; |
direct before indirect, instead of the French order, indirect’
before direct, when both pronouns are of different persons,

il

L,2 Omission of definers

) -
(36) *Il1 faut avoir bons gens avoir bons industries,
Apart from the other errors in this sentence, the part-
itive article de-has been omitted before each adjective,
The student gseems to have translated directly from English,
"You have to have good peqpie to have good industries”, ihich
omits the article before the adjective, It'iS’interesting

to note that in the corrected Erench.sentencé, the noun gens

has a bartitive sense, whereas in the English sentence, with
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zero article, the noun implies generality., Tn Engzlish, the

partitive noun normally has zero article, whereas in irench

it is the exception rather than the rule that a noun stand

without an
(37)

(38)

{2

(39)

(L0)

article, . '

#Elle porte lunettes tout le temps,

#I1 y avait masques comiques et vidrges en costume
exigu, scouts et clowns, et un bruit que pouvait
8tre entendu un mille de 1A, '

*La rue dans laquelle nous jouions‘et qui'par-
aissait autrefois de longueur interminable,,.

*Elle a cheveux longs,

In the above exampleS“(37) - (40), the sentences are

syntactically faulty because in each one, necessary definers

have been.omitted, -Interference from English is evident,

because English would have omitted the type of definer fhat

the French sentences required, .
4.3 Omission of prepositions - 3
. ' . ';.-:\" -
4,3,1 4
(41) #Cing heures, nous sommes allés A Paris,

In this example, the preposition 4 ‘has been omitted

before the

o'clock we

s

cing heures, In English, we can say either "Five

went to ..." .or "At five o'clock we went to ,.. "

The preposition "at® could be omitted (and more often than

not in Newfoundland speech it is omitted), and the sentence

would still be meaningful and grammatical, In French, how=-

ever, the choice of whether or not tb include the preposition

4 does really not exist., It must be stateds A _cing heures... .
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(42) *,,,nous sommes allés A Paris qu’ est cing milleg
de notre ville,
In this case, the student has omitted the preposition
A before the cin ﬁil}es.'because in English.we do not include
a preposition: ".,.Paris, which ig five miles (away) from our
town...”. The word "away" may or may not be uged, but in
either case there would be no ambiguity in the English sehtence.
In French, however, the & mugt be used because it introduces‘

a noun phrase which is 1ntended to be used adverblallv. and

any such phrase must be 1ntroduced by a prep031tmon With

the A omitted in (42) the adverbial sense is lost and the

noun phrase regains its' noun status. We then have an ungram-
matical ‘'sentences *Paris est cing milles,,., to which a nat-

ive French speaker could only reply, "Paris n'est pas cing

‘milles, Paris est une ville,"

Another type of error in which the preposition 2 has

been omitted is the followings

(43) *J'aj écrit ma mire,

Here the preposition is needed to indicate (grammatically,

at least), that the noun mdre functions as an indirect object

" in this sentence, The verb é&rire takes as difect object the

thing written; but ag indirect objecf the person written to,
Since ca;e in French nouns is not indicated morphologically,
the preposition-g‘ig needed in the above example. In English
we can omit the "to" marker of the indirect object, amd say:-
"I wrote my mother®,. We can even add another object to this
sentence and still not insert the preposlt1on "to": "I wrote |

my mother a letter”, We know that the direct object is "a
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letter” and that the indirect object is "my mother"”, but there
is no preposition to in&icate this latter - there is no marker
here for the indiréct object, In English the distinctipn
between direct and inq}regt objpct is made by word order,

In a sentence where there are two objects, a direct and an ;
indirect, and the indirect object is not .marked by a prepoéition,
the word order is very important - Qhe indirect object pre-
cedes the direct, With this synfactic patterh the indirect
marker "to" can be omitted, However, in such a case, the
indirec*/direct order can not be reversed, We do not say

*] wrote a letter my mother, If we want to put the direct
object first jin the sentence, we have to insert the preposition
“to" to mark which object is the indirect one, thus: JI wrote
a letter to my mother“..‘In French, when both objects are
nouns, the direct object usually precedes the indirect, but
this pattern is not rigid, because it is not its position in

-

the sentence which determines the indirect object, but the

presence of the preposition &, One could say, J'ai écrit 2

ma_mdre une lettre, The word order of the latter sentence

is not the normal word order of Prench, but it is possible

and it ig grammatically correct,

So when the student made the érfor'in (43) above; he -

was probably‘influenéed by the pattern of the English structure

which permits tht omissfon of the "to".

£
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h,9.2 de

The examples above deal with the omission of the prep-
osition 3, and according to our data it seems that this
preposition is more likely to be omitted by an anglophone
learner of French than is the- preposition ggtl). In many
instances de seems to be reduced in semantic confent and to

-

function merely as a connector in such a phrase as la ville

de Montréal. English has a similar connector in the word
“of" = "the city of lontreal"”,. Thus English ané Prench.ex-
hibit similar structures in thi; tvpe of phrase, HoweQer.
'therelare many instances in French where the de is required

~ as a connector, as "une éorpe de cheville syntaxique" (Grevisse,
19641910}, but where "of" is noﬁ used in English, It is in
these ingtanceé that errofs are frequently made, because the
learner constructs his phrable in French on the basis of the
Enrlish pattern, The following is an example:

(44) *. .. rien intéressant,,.

It is a syntactic rule of French that an adjective cannot

.be placed directly after a pronoun,-which is why the required
de is a connector here, This can, however, be doﬁe-in English -
fnbyhiné interesting”,

° (45) *I1l était impossible voir gout,

In French the sequence il est + adjective demands de

. r“ N o .

(1) 1In fact, accprding to our dataj the preposition'gg is -
very ' often inser®ed in a sentence where it is not needed at
all, e.g. *aprds de, *devant df, *A part de, '

oA
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before the infinitive as a relator beltween the adjeclive and
[} . N ' N

the infinitive when the verb i3 imneraonal, According %o

(tousenheim, "d'une facon rénérale de a tendu & s'ar-lutiner

avec l'intiniti’ comme to en anglais" (1966:1282), This may

"explain why -he learner omitted the de in example (45) above,

.. ] ! . <y . "
where he was translating "It was impossible to see everything",

The preposition "tg" was probably thousht of as belonging to
Phe infinitive "to s;e“.'which'is simply %glg in French, So
since voir s "to see", the gtudent probably thought that it
would be redundant to inélude a preposition before the infin-
itive, —— .

(46) *5.. le soleil automne ..,

The omission here of the prepos1t10n de is an error
because the word automne is a noun,  and cannot be used slmply
as if it were an adJective. because then it would have to
make gen&er and number agveements‘with the noun it is mod-
ifying, and might be expeoted to forﬁ comparative and super-
lative degrées. etc, In the abore example (46) the learner
has considered automne an adjective and has placed it in ad-
jectival position after the pgun'soléii, because in Ernglish ’
therword “autumn”,fhlthough'a'noun,.is‘used in its s&me form;

g8 an adjective in the phrase "the autumn sun”, What is

actually meant is ‘ﬁutumﬁ&l” or "of autumn® (Prénpht d'automne)
but th?se would rarely be used in ordinary English by a native
speaker. In French. a noun or noun phrase, when“uéed édject-'i.
ively or adverblally. st normally be preceded by a preposition.

and the omlsslon of such a prepos1t10n by a learner of French

J
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as a second lamnyuare is due in many cases Lo the interference
of theNpardllel Enclish structure, where the preposition is

not needed,

4,4 Unsatisfactory constructions

The‘errors in this final group did not fit into either
¢f the previous categories in this chepter. 80 this is a very
mixed group of syntactic errors' - what JE have called,funsatisk
factory constructions”

(47) *,,, un enﬁpoi; o) on fait comme il platt,

Here the lear 62 was attempting a transiation.of the
English constfuction "a place whece dne'does as he pleaees".
The error.in syntax mey be_compounded by.a kind of lexical
interferencn from English, from the form "please(s)", When
the vern plajre meahs "want" or "choose", as was intended‘
in (47) above, then i:s subject 1% an impersonal one, il or
cela, and the person is indicated in <he indirect object -of
plaire, This etrﬁcture is the same as we have in g' il vous'

laft, and as it was in 0ld and Middle Englxsh.‘"(xf it you)
please" In Mcodern Engllsh, w1th the verb 'to please“ we
can use either an impersonal or a personal subject, We can

say.'"If 1t pleases you to do that", and "he does as he
v

quesee . It is the meaning of this latter that was intend-

ed in"example (47) above, and it was undoubtedly this English.

structure which 1nterfered and caused the error in épe French,

{48) *Elle a gé&né,tout le monde par étendré'son l1nge
go’ _ le dimanche, . ‘ .

This is an unsatisfactory combination of the preposition

*
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par and -he iAfinitive, causing a syntactic error, The
interference is-really the incerrect tfenslatlon (in this
context) of "by" by par. The only time in which an infin-
itive can be preceded.by'pgg is when that infinitlve is the

complement of the verbs finir or commencer, (sometimes also

Lo

terminer and débuter), e,rz, Il a fini par étendre la main

v

A l‘ennemi. Elsewhere in a verbal construction "by" is norm-

ally rranslated Hv en and is followed by a present partlciple.

e.ri en étendant However, in the original error (48) the

learner used an infinitive instead of a present part;ciple.'

which would have.been the mdére obvious form to use if he.

were jugt. translating from English, So there seems to Kg‘;hs{(
ial ‘interference from a previsusly-encountered structure in |

. French‘- par + infinitive. The, stndent khew that par is

Lollowed by an 1nf1n1ti?e-and not by a present part1c1ple.
9
but it was the lexlcal 1nterference of  the preposltlon ”by

‘which eventually resulted in a faulty syntactlc Btructure.

(49) #I11 % éte donné le livre _par son pére,’

This syntactlc arrangement of the pa531ve v01ce con-
struction is unacceptable in French. Sentence (k9) ia really'
a lleeral translation of’ uhe Engllsh "He was glven the book -
bv his father”, In this sentence the>grammatical subject «

"he" is reall} the dative partlcipant of the sentence. and

yet Engl;eh permits its use as a Subject, 'This sentence can-

also be paraphrased "the beok was given.(to) him by his’

)

father”, where the grammatical subject is the logical direct

object, The agent, father, is indicated by the marker -"by",
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Enlinh haa several posgsible gyntactic constructions for

sentence (49}, whereas French will accept-only one syntactic -
“

o
forms Le livre lui a été donné par son pére. This form of

the passive voice is common to both French and English,
Complex syntgchic arranrements such_as encountered in this
examplé (49) occur with cerﬁain"verhs when there is also an
indirkct object iﬁ the structure, English perhits.this
dative payﬁiélpént to be used as a grammatical subject,
whaggés ngnch does nof:"e,q. He.was.allowed to leavg/ :
11 1lui étaifhpermis ée partir,
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9, MORPHOLOGICAL TNTERFERENCE

Errors in morpholofy were perhaps the most difficult

o

to classify. As was explained previously, ‘it is often a

rather difficult task to draw a line between morphology and
" syntax, and s0 we have used both Lyons' and Nida's deﬁinifions
of merphplogy to support our categorization,
.Lyons says the following about the distincpion between

. , morpholory"pd syntax:

-{. _ "Accordxng to a common formulation of the dlstinctlon
. ‘between morphology and syntax, morphology deals with
the internal structure of words and .syntax with the
rules governing their combination in sentences” (19681194),

Nida makes a similar distinction: .

"Morphology is the study of morphemes and their
arrangements in forming words, Morphemes are the
_ minimal meaningful units which may constitute words
- . . or parts of words,.. The morpheme arrangements which
- are treated under the morphology of a language in-
’ clude all combinations that form wordg or parts of
. _ words, . Combinations of words into phrases and sen-
- tences are treated under the svntaxk (194911).

So when there was an error in a word, we classed that

-

-+ error under morphology, although we realaze that many of’ l ot

.these~errors are eyntactically,conditioneg. such es.concord.'

<+

"for. example,

'5.1. Gender ' : )

. French has two genders of nouns, masculine and feminine,
- and Enaliah has Epese two plus the neuter gender. In English,

gender is’ generally correlated W1th sex, 8o that nouns g':pr

noting male and female belngs are'u1ther masculine or feminine,

3

% . '
‘. : .
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and nouns referring to "sexless. objects" (Gleason 19661227)
are usually described as neuter, But as Gleason says,

"In English (the category of gender) is not richly
developed '"he sender of an English noun is ‘defined
solely in terms of the pronoun subgtitute, he. she
or it, which may be used in its place” (196 322_7—

As régards fender in French,

"Il est admis en général que le frangais a deux
genres: le masculin et le feminin, et ne dlspose
pas comme l'anglais d'un.genre neutre, résérvé aux
choses, 3 1'inanimé, plus généralement A tout ce
qui n'a pas de genre" (Guillaume 1971:72),

The French linguist\Guillaume says that on both levels

of languare, langue and discogrs. French distinguishes two

types of gender, real and fictive, On the level of langue,
real render adhité both masculihe and feminjne alternatives,
e.r. le berger/la bergdre, whereas with ficETVE‘éénder there-
are no such altefﬁatives. e.g., (le) fauteuil, On theileyel
of discoursg, Fhese distincﬁions are marked, Real gender is
marked as eiiher masculine or feminine, "The marking is in

the nodn itseif,’and extends to its determiners, e,g., le roi/

la reines le lion/la lionne. (Examples: from Guillaume 1971),

Fictive gender is marked by the absence of the alternation

‘ mascullne/fem1n1ne. Where this alternatlon is missing, we

are concerned with noﬂ-gender. with the neuter. But sub-

-stantiveg of fictive gender get arbitrarily assigned, on the
. ,

. level. of discog;s, to either the category ef masculine geﬁder

or the category of feminine gender.. Thus the fact that French
has’only'%wo genders, masculine and feminine, and that all
nouns are agsigned to onefor the other of these categories,

preéents problems for.hative English speakers who aretlearnihg



g e . —— @

37

|
French, becauge althoush they have no problem as to the render

of certain nouns such as le gargon or la dame, where the’
renger is inhereht in the nouns, they do however have prob-
lems when they must assign a gender to certain animals or
inanimate dbjects. In a noun like crayon, masculiniﬁy or
feminity'is‘certainly not inherent in the noun, yet the learn-
er has to éccept that th;s noun has been assigned, however

e a}bitzarily, to the masculine gender category,

A}

In English, therefore, gender is mainly a syntactic
category, wh{le in French g;nder seems to belong more to
the.cé!Lgory of mdrphology, because altﬁough nouns them-
selves are génerally not influenced as fo gender, adjectives .
are inflected, so thap there is a mascul}ne and a feminine
fqpm of any given adjective, Also in French the gender of

the noun is marked py the article which accompanies it,

This is not. the case in English, For exampleé:

the boy - ‘ le gargon
the little boy le petit gargon
_the girl ' la fille
the little girl la petite fille.

. - ' . L4
the house la maison A
the little house la petite maison

—-In Engl%éh the dgfinite.article'"thé" hoes:not change whether
it designates a masculine, feminine orAneuter noun, Nbr’
does the adjective change, In‘Frenéh. however, the article

does change - le designates a magculine'nouh;'lg a feminine
noun, Similar}y, both the indefinite article and the
adjectivé change form to agree with the gender of the.nouns

they modify. o ' ‘ : ’
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. We stated earlier that gender ceemo to be morphological

in French, but this is not to deny that syntux ig involved,

. Certainly the fact that la, a feminine article, muat be used

with dame, a feminine noun, is a fact of syﬁtax - of the
liason between article gnd noun, But when an error is madé.
for example if someoﬁéjﬁfitea *le dame, there is still a syn-
tactic relationship (article + noun) but this relationship

is not a completely true one because an error of gender has

‘been made - the learner has used the wrong morbhologicél»

v

form of the 'article, It is on this basis that we are in-
dludﬁﬁg éeﬁder under the Eétegory of morphology., We may call
it "morphology- with syntactic conditioning”, and_;ther divisions
besides gender will algo best fit under this headiné;
| (50) *Paris est gel;e._ : . o

(51) *La meilleure fagon de la (Paris) voir} c'est,.,,

‘According to Grevisse,."On'pose parfois en régle que -
généralement le; noms propres de Villeélsont masculins qugnd
ils sont terminés par une syllabe sans e muet ,,, et qu'ils
sont fémining quand ilslsont tefminés par une syllabe muette"

(196L4s201), Pollowing this, one would replace belle by beau
in example (50), and la by le in example (51) above, (However,

in actual fact, the French would prefer something like Parjs

est une belle ville, rather than the structure of example (50).

- In Bnglish. on the other ﬁand. we tend to'refer to.

cities as being_feminiﬁe. as giemplified in such expréssions

: asi 'Lon&on - her'tdwersl VBﬂlce - her cahalss Paris - her

charm, - Ahd is it not also Venice that is calied the Queen .
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of the'Adriatic? So perhaps it is this tendency in English
which influenced the students who wrote examples (50) and
_(51)'above.

" : ' (52) *Notre professeur est excellente,

‘ The error here is one of discord, but it is caused

by interference related to the gender of the houn. In Eng-
lish, the noun "teacher“ can refer to either a man or a
-woman. We can say: the teacher/he, or the teacher[éhe.

| In French also_the noun professeur can designate either a
maﬁ or a woman, but ﬁnlike English, Prench marks the gender
of the noun by the article which éccompéniés it, Le
professeur, while capable of designating either a male or
female teacher, is grammatically a masculine noun, and as
such its4modifiefs must also be masculiné. If an anglophone
gtudent writes about his teacher in French, and the teacher
is male, there is no problem, There,is simply the agree-
men? between adjective and ﬁbun. e.g. Le p;ofgsseur egt
ei&eIlent. But if his teacher is female, the learner will
not be.satisfied by le p;ofggseﬁr est excellent because this
would imply that the teacher is male, On the Sther hand, he

could not write.(as in (52) above) *Notre professeur est

ellente, because there would be grammatical discord

Y DT LR L

':;femin;ne adjective ﬁodifying a masculine noun), So'the

_;éfarner.has to get around this problem by using a word such
‘> \}v’ .\’~ ‘ o P e - .
# ag femme to indicate-that the tegcher isg a woman, He could

j ‘5 then write, Notre professeur femme est excellente,
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5.2 Concord ,

Arain, we dofend the placing of c;ncord in the cate-
gory of morphology. Agreement of subject and verb, or of.
ad jective and noun, is a visible sign of the rapport that
exists between the members of each ﬁroﬁp. This rapport is
syntactic, b;t the visible sign (the agreement of the verb
with the subjec; or of the adjective with the ngun) haé a
morpholorical form, and when an error is made, when the'wrong
morphological form is chosen, the syntactic relaéionship is
weakened, Thus a good syntactic relationship of concord'

*

depends on each member having the correct morphological form,

5.2.1 Subject and verb

-1

(53) *Ses cheveux est trop de longs,

The error'that we wish to point out in this example
is the use of the singular verb est with a plural suhject.
The inteffefgnce here is due fo the fact that in English the
noun "hair" ié. in the sense intended above, a mass noun,
and thus takes a singular verB; In Prench, however, the
noun is plural, les cheveux, and thus requires a plural verb,
In the above example, the learne: has obviously remembered
that this noun is plural in French, but he is still thinking -
in English, and even though he has written a grammatically
plural noun, ges_cheveux, the Ehglish “hair" is still upper-
most in his mind, and 8o he writes a singular verb,

| (54) .*Toute la famille prennent les,vacanées ensemble,

, ,
What has happened here in example (S4) is the reverse

r
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of the crror in example (53) above - here the learnor has
used a rrammatically singular subject with a plural verb,
This appears to be because in Newfoundlggd speech "the whole
family takes thelir holidays fogether" is normal 'aée. In
_the English sentence the learner would normally make the
correct nrammatical,agreemeht.of’singular sub ject and sing-
ular verb, so L¥ is not this which interferes with the
French gbrm. ¥e think rather it is the use of the word "their"”
in Enslish, which séems to indicate that the speaker is think;
ingm of the individual members thaf"make up the family, rather
than of the family as a unit, that interferes and causes the
learner to yrite prennent instead of p;ggg.'~1n the French
sentence thre is nothing to indicate that one is thinkins
of the individual membe;; of the famiiy._ This may be because
in French one can talk. about leg vacances (Using the definite
article) whereas English normally requires a pogseééive
adjective, noﬁ‘éimply an article, before the noun “vacaﬁipnﬁ.
One Qould normally say, for example, "John is téking his |
vacation in Jply",land nof "John is taking the vacation in
July", So referring back to example (54), the Eﬂglisﬁ equiv-
alent would not be "The whole family is taking the vacatibn/-
holidays together”., One could substitute the possessive .
adjective "its" - "the whole family is taking its vacation
together" - but to the learner this may have sounded odd,
~as 'if the speaker were detéhhing himgelf f;om'the situation
involving the family and talking abqut the family as<gn "it".

hS

Also, .the word "together" (Frenchs ensemble),imilieé-

o

-
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plurality of the constituent parts - only two or morc people
can po on vacation together, Therefore, the notion of plural-

s dominant in the Enrlish structure, in some form or

. . . ) \
other, and it ‘is clearly this which interfered and cauged

{

.-

“the student to write, incorrectly, prennemt, in example (54)

ahove,

5.2,2 Adjective and noun

-

Lack of agreement betneen adjective and noun in French
could; it is assumed,be due to interference from Eng}ish in
that adjectives in English do not aé%ee.‘either in gender or
in number. with the nouns they modify, In French, however[
the adjeetive‘generally agrees, both in gender and in number,

This would explain an error of the type "Les professeurs sont
excellent, This kind of error was found at all the levels
of Frencgbstudy that were represented by the errors we collect-

ed, Slnce agreement of adjectlve and noun 1s a "rule of

*%

grammar" that the student learns quite early in his, French
pro%ram (at Memor1a1 Univer91ty) and has repeated in nearly

all his courses. this type of error would not be due‘mo 1n-

complete learnlng or mlsundbrstandlng. Theestudent fbrgef@AG

to makg the. agreement because the pattern of the adaectlve-

noun constructlon in his natlve language is dominant in his

mind.

- Other . examples of this type of errors
. (55) *L'histoire est "amusant,

o o
hach:

. (56) *Les Jeunes gens sont allongé au soleil.‘
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5,3 Pronoung
5,3,1 Reflextve

(57) #Je se promenais ,.,

This example shows a very common %Qpe of error(l) on
the rﬁflexive pronoun, and in fact 3t is the only kind of
error in this category which occurred in our data, The error
of using the se form as a‘reflexive pronoun in combination

with any of the subject pronouns, e.,g., *tu se promenais;

*nous se promenionsg, seems due partly to interference from

English, and partly to incomplete underatanding of the re-!
flexive pronoun itself, The error seems not to occgr with
-the meaning given for this verb is'?fo wash oneself”, Thusf
in English there is a reflexive pronoun which'inflects accord-
ing to the subJect -pronoun, and the learner w111 generally
make the correct 1nflect10na1 changes in the French verb,

-

e.g. Je me lave, nous nggs lavons, But other pronominal verbs

.in French, which arée not,pronominal in English, e.g. s'arréter.
romener, provide baees for error because the'learner

does not recognize that the's or se is a reflexlve pronoun

in French, He sees the infinitive sJarréter as meanxng only
- "to stop", and this verb means both to stop oneself and also

to stop someotie or eomething elae,. French, however.jmakes

el

. . . ' . . . «

(1) We have considered this’ tyge of structure as a deviant
from the standard’Prench form, and thus an error, But this
structure is apparently still found in some dialects of Prench,

certain pronominal verbs, ‘such a3z ge laver. beceuse generally.
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. -was: made about 1nterrogat1ve who/whom, buf it applies equally

’

i

a digtinction between stobpinn oneself (g'arr@ter) and stop-
pine another party (arréter): The learner then does not

realize that a verb such as se promener is actually thelverb

promener with a direct object which happens to be a reflexive

pronoun, He does not see that the verb pr%mener (to take
someone for a walk, for a drive, etc,) is the same verb in

se_promener, and that the se is the same person as the sub-

ject of the verb, so'that se promener is literally "to take

oneself for a walk"; in other words, to gé for a walk,

5.3.2 Relative :

(58) *C'était Pierre Deschamps qui Je n'avais pas
vu depuis cinq ansg ,.. ,

It seems that the 1nterference here is the facﬁ that
common Engllsh usage has all but e}lmlnated the d1st1nct16n |
between nominative and’ accusatlve cases of the rela ve gro-
noun “whg", Fhat ig, most speakers use whg,Jboth_as sub ject
and also as object.(iﬁstead of "whom"), This notion- has
‘been expressed by several 11ngu13ts. among'whom. Zandvoorts
whom éxists.almost exclusively on‘Paper. who being used
1nstead in the spoken language“ (l957:155). (This statement

. . y
well to relative who/whom) Learners 1n beg1nn1ng courses
in French (at Memor1a1 Unlverslty, at least) tend to accept
_g_} as the 1nterrogat1ve or relative pronoun standlng‘for

" persons (thau is, "who", rather than "which™ or "that"),

1rrespect1ye of case,
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* 65,4 Prepositions

5.4,1 en ) .
A (59) *... les hommes en nos bureaux de police ...
This is an error(t) because the preposition en is not
renerally used with concrete, countable nouns, but rather

with collective nouns that are usually abstract, e.g. en

bonne santé, en ce temps-13, En is rarély followed by a
determinera en "“g"accomode maI d'8tre suivl de 1'articlef
défini, & part quelquea expreBSLOns plus ou moins flPees
(en 1'honneur, en'1l' alr. etc.) +.," (Gougenhelm 1966:295)
The correct prep031t1$n for example (59) above is de,
because this Lg one of the few prepos1t1ons in French which
can be used'with congrete nouns to form adjectival clauses,
English differing:significantly from French ih this regard,
'Similarly, in the follbwingfexample. the prepqsition should
~also Se des ' ' 1 . .
' (60) *,,, la route était vide dans les deux di:éptiohs.
What the student wrote here is actually a calque d'expression.
-(Fere. however, it.is adverbial)
+ The prep091t1ons en and dans are often the source of
much confusxon to the student~of Prench, because he has to

- differentiate between their usages in Prench, whereas in
) : ' .

. . . .
4 ]

(1) It seemed to us rather surprising that the student used
en in example (59)--- we would have expected dans, gsince, to
begxnn1ng students of French. at least, dans is more. familjar
than en, Perhaps it is becausé en 'looks more 11ke English
than dans does., Thig graphic similarity of en and *in" may
explain why many students use en in front of names o cities,
e.g. *en Paris, - . B N

' . -
° . - -
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EnfFliah, the preposition “in" (the most common translation.

of en and dana) covers mosr of the contexts in whlch en and
[ )

dans are used, Therefore, we think that{these prepositions

are worthy of a brief comment,
According to Gougenheim.'"D'uhe fagon généyhle. dans
. X ‘ ==

a un caractére nettement plus concret que en ..." (19661295) .,

LeBidois ig renerally of the.same opinions

"Dans se fait suivre régulidrement d‘un nom
déterminé par un article ou un introducteur
(possessif, démonstratif, etc,), Comme le
remarque Lafaye, '&tre en ville, travailler
en chambre, n'exprime rien que §'indéterminé,
un.rapport abstrait d°'oppasiti entre le lieu
od 1'on se trouve et un adtre 61 on pourrait .

o‘ 8tre,,. Mais dans la ville,adans la chambre,
se dit en parlant précisément de telle ville
entre telle chambre enfre les murs de laquelle
on est renfermé,,.' " {19681714),

From the point of view of Yhe notlons Qf these prep-
ositions, en expresses the 1nter or view of an 1nter10r1fv.
and dang expresses the exterior view of An 1nter1or1ty.
This is the mechanism undeplqug'the glfferepce 1h meaning

of the following Seﬁtencesr -

9

(a). Il est en uniforme, ' . . . R o L

(b) Il est dans son unxforme.
re
In ﬁa) what 13 meant 15 not the un1form itself. but

the mdde of drees. an abstractlon. which has neither exterior

vt

form nor mater131 reality. and therefdre cannot be v1qwed

from the ‘outside, Thereforé thq prepos1tion is en, In (b)
we: are conceqned wi%h the un1form itself a suit made of

qloth. a concrete object which has material reality and thus

..l )

exter1or form, therefore.we use the prepos1t10n dans (We

-
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know that itlin a gpecific uniform that is meant becadse

sthe possessive adjective gon has been used with it,) ‘So

we see that dans is used when the specific s;nse of the noun
is implied, and en when it is the general, abstract senge, -

Enrlish- does not make this distlnction between 1nter10r

and exterior views. ‘The. preposition “1n" is used in both
‘@ ¢ . .
0 'abst®hct and concrete sknses, and before nouns "with zero

g

article, definite article, and indefinite artigle, e,g, in
" appreciation, in the room, in a city., Thus, becagse the

learner does .not have to make such a distinction in English,
, KRS
he often does not make it as a beginner in French, gither,

and errors result.

s, b2 A ‘ o o / .

(

(61) *Nous avons pris l'avion & Halifax,

Here the English reference was "We took the plane to

Halifax®, but what the student has actually wpltten 18 "We

tock the plane in Halifax" .' (Example (61) is grammatically
' ‘correct in itself, but'is incorrect for the context),
| English usesg different preposiéioﬁé to indiéate.the ’
[ 4

two different notions covered by the same prep031tlon a, as

exemplmfled in the following

e e vaie &.Par1s, : moveme;% to%ards
(b) I am zoing to. Paris.,,f”’/ (motive)
(c) Je suis 2 Parxs. locality

* (d)_ I am in Parls,__,,,,——————' (stative)

(That is why example (61) is incorrect for the context,)



. L o . bR

-

Since é.cén Se'both-sbative éhd.motive, somgthinﬂ in
'éhe ?qghch sentence has "to ma liear the distinction, Norm-
/ - h all;. that somethfhr-eiqe is the verb, But g;gggig does not
“ 1mp1y mgyemen* towards~a goal, so the statlve not:on of grendre
;" ' and ‘the g%ative nation of A rive example (61) fhe meaning
:$Z"We took the plane in ﬁalifaxm.. In order to convey the idea
. of takings the plane to Halifax. in other words, the idea of’
.éovementT-Qg,havd to change spmething'in tﬁe sentence or add -

o

* somethipg to it,. We could fearrange the senfencexin,either
' T, ‘of two wayss .’ S : AT
) .
(a) bv addlng the prep031txon jusque, anq thus ob-

taining - Nous savons grls 1' av1on jusqu'd Hal;gax

Crexisse expla1ns the 1mpact of Jgsqnen "Jusque‘f

marque l'arrivée 2 i un terme que 1° on ne dépasse.
pas” (196431947), In’other words., we.were on the .
. . .plane until (jusg. ue) we arrived in () H'alifax,. '-,
) (b)' by rewriting the sentence thuss Nous sommes allés '
.:"‘ '_.. . 2 ﬁg;ifax en avion, Hefe thg‘mpvémént‘is expreéaéd
’ in.ﬁhe Qeib g;;g§! 80 the preposition A can remain \

as is,

5.6, sur o

(62) '*,.,.sur son complétement RETIN T
J(kj) *,.,.08ur le cinquiéme etare el
| Accor&ing to Gpevisse. "ggg. d'une qaniéfe générale,

indique la ﬁosition d'une chose par rapport i ce qui est .

s . ’ . ) L




' remote to be used with.sur.

g

, i_ - .

plus bag, en cortact ou non.avet elle: s'asseolr sur une Y

‘chaise = un nuase orageux plane sur la ville" (19641959),
»

In example“(62) abdve, such a relationship "is not the case,
What is really meant is “when it was Or will be completed;

r . . . N .
at the time of its completion”, and these notions are render-
. ‘ ' | 4 -

ed in French by the prepogition é. Ehglish uses "on", but

this cahngt be translated in example (62) by sur, because - g

achdvement is an abstract noun whose semantic content is too

. s . N

-

"Similarly, sur cannot be used as it has been in example

4

(63). .Here\again there isQonious‘intprﬁerence from English -

_we can éay.'"dn the fifth floor" because English does not

distin7uish between "“floor"” meaning the levgl (as‘fegards

heizht) of a house or building, and "floor" meaning what we

walk on, French, however, does make this distinction - it

uées étage to mean’"level", and either le plancher, le parquet,

or le carrelage for the mo}e concrete meaning, Englji h uses
“op“.!;th both.concrefé'éndfﬁbstract nouns, e,g, ‘on f}% table,
on the contrary, whereas French~tqnds to use sur with concrete
ﬁouns.'such as sur la table, while with abstract nouns many
other prepositiéns are used, such as 3, dans, de, en, par,
ng;, sous, Therefore, in Prench it would be difficult to
imégine a situation ‘where one would say *sur le cinguidme
ctage, . T ‘

" We have jpst stated that the use of sur with a concrete

»

noun also broduces unhcceptable forms; FPor example, one .

. student wrote about his trip’to Toronto, and said that he

-



had mone .
o
J X . ' '
. (64) - *sur 1l'avion -

-
CITY

e,-.on top of the plane. The error is due to interference

" "from Enlish “on", which, in this cade, is expressed in

French by dans, meaning "inside",

£

Se5 Verbs.and:verbél forms - -
As in the morphological classificatiég of the other
parts of speech, there were_nqmerbus difficultlies encountered
in trying to élgeeify errors in the verbal system, Baséd
on the félevant datg obtained from'our corpus, we have de-
cided to examane errors in the, categories of tense and aspect,
voice, and lexieal and grammgtlcal aux111ar1es.(1)
. -

5.5.1 Tense . _ ' ) -

—t,

.. The ¢hoice of tense is’ 1argely a.eemantic one - a
particular tense is chosen to locate in time the action in

. quast1on. However, ' our reason for putting errors in tense -
under the heading of morphology is that it is in the morphol-
ogy of the vefp. thp.inflectional_endlngs. Ehax tense is
marked in Prencﬁ. Thus, i; the form je marghais the notional
content of the verb the lexical element, is repreeented by '

~ the root march--- » and the morphologlcal. grammatical element

by the -ais mo:pheme. It is- this,-a;s "‘morpheme, (indicating

—pordl Sl T

(lf We have hot taken into account in this section les lgcut-

ions verbgleg e.g. avoir faim, avoir begoin, etc, These-
were considered earlier as idiomatic expressions under the
r heading of lexicon,
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here the imperféct tense) which indicates "un fait qui était
gncore inacheyége. au moment du pnseé‘auqqel ge reporte le
gujet parlanty il montre ce.fait en train de se dérouler,
mals sans en faire voir la phase initiale ni la phase finale,,,"
(Grevisse 196&:652) .

In French there are fivc simple tenses - present. im-
perfect, future, conditional and past definlte.‘ In additlon.
each tense makes use of the cateégory of aspect to form com-_'A
pound forms of these tenses, The simple tenége are eaiq to
be in the immanent aspect;'e.g. je marches the compouhd forms '
of these tgnses are in e;tﬂer the traescendant';spect, e.g.
j'ai marche.' or the bi-trenscendant.aspect, e.g. J'ai eu

marché, Aspect 1nd1cates the "resultant phase"” (Hirtle
1967:15) of an event's havxng t&ken place.
Whereas there are five tense forms in French, there

are only two in English -~ the'past. e.g. I walked. and the

v non-past,e,g. I walk, Also, according to Hirtle (1967:16),

Enélish has only twocgzgmmatical aepects. immanent and trans-
cendent, whereas. as we have stated, French has these two

plue the bi-transcendent. aspect. In English the transcendent

'aspect is marked by the_aux}liary verb "have" with‘a.past

LY

ﬁarticiple. e.g. he hag walked, "All othér forms of the verb
“are in the lmmanent aspect” (Hirtle 1967:116), Engiish;also
has the progreseive forms of the verb. e.g. I am walking.

but the progresaive forin does not exist in Prench. So with
all these differencas between the verbal systeme of English

and Prench it is understandidble that many errors should be

A
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made by anﬁlophone 1earnorn of Ffench.. We shall now examine
some of these errors,
5.5;1.1 ‘Use of passé oompoeé for present

(65) *Nous avons été anie pour dix ans,

Past time in English, that is, time immediately anterior
to theé present would be indicated in the translation of ex-
ample (65) by the transcendent aspect of the nonj;aat - the
present perfect "have been", Past time in French (for ex-
ample 65) would be indicated by a present tense, sommes.

The present perfect in English *"still presérves much of its

original meaning (i.e. as an aspect of present tense) in

that it is usually employeq when the time is felt as not

- wholly past but still“at least in‘close relations with the.

present,.,," (Curme 1931:360), In other words, the present

" perfect in English can be used to indicate that an action

which beran in the past is still continuing, still present

When French wants to indicate suc¢h a notion. it normaliy

uses a present tense, hence, nous sommes amis depuis dix ang, -

rThls type of present tense in French contains some accomgl;(l)

as well as sgome accgmgl;sgement(I). In the Engllsh tranglation

‘of (65) above("We have been friends for ten. years”) the

accomp i ig indicated by 'been » and the accomplissemen
by‘“have .

(1) Terms from Guillaume 1969:187



r,',
. - !
This retroopective view of the simpld pregsent 18 new
' ‘ .

to the anrlophone learner of French; because it does not exiot
"{n his own language, In the aimple present in'Enélish there

(1)

ig ho accompli, only'accomﬁlissement . Consequently, «for
- example (65) the student's owh system of'representation_qf
the pasf (here, the present perfect) dbpinated and cagsrd

him to make the error in French, -

. L SN

5.5,1,2 Use of paséé‘cémpqsé’for imperfect

(66) *Je les ai connus tous il y a des annédes,

(The student wanted to say "Years ago I knew them all",
;z there is an error in the verb of example (665). This
error is due t&-interference caused by the facﬁ'that-the,
past tense "knew" can be representative ‘of either an operation
or a state of mind, With verbs of "mental event" (Hirtle -
L965»?u). such as knowing, and verbs of‘perception, such
as seeing, we do not normallv use the proaressive form, ex-
cept in certain'special'caseSQ For example. werusually say
»] gsee” and not "I am seeihg". except in instances like "I
am seeing stars”.'(Hirt;e>1967152), in.whichfcasea Hirtle
continues, “the'object exists only 'in the mind of the per-
ceiver (and so) no view of a whole (ié) experienced” (1967:172),
‘With verbs of mental event such as the verb "to know" fhe .
simple form "I know" denotes é‘étate of mind, a result of '« .

mental operation - the result of “having gotten to know" .

» .

(1) Cf. Hirtle 1967:19-21-



So since a result has been attained, there iq no need to s
represent the act as being in progression, That is why we
normally say "I know" or "T knew" and not *I am / was knowing,

Therefore, the 'form "I knew" has to:cover both the mental

.operation (as indicated in the example "I knew hergas soon

as I saw her", where "knew" really means "recognlzed”). and

the regsult of the mental Operation, the atate of mind, " In a;:>
French. a verb denoting state of mind at a fiven moment -in

the past is norﬁally in the imperfect tense, a state of mind

havina'accompli and accomplissement virtuel in the stream

of time, 'In actual fact, with certain verbs, such as

connaltre, savoir, vouloir and pouvoir the pagsé composé means

something quite different from the imperfect, Thus, je conna1s isg

= T knew, but J'éi connu = I mets je gavais = I knew. (I was

aware), i'ai su - T suddenly realized, I found out,

Since "knew® is a past tense (preterit), therefore. not

LA

an imperfect as 1ndlcated by ‘the " was, + Cverb) + -1ng" form.

- the student uses a past tense ifi French, but due to the in-

fluence of English, g%oids the{imperfect'tense which he.
associates with ‘the "wag® form in English, This may'also'.

explain what happens in similar- errors which occur with the .

verb vouloir, The student frequently uses j'ai voulu instead

of je voulais in the. rendering in French of such’ Englxsh

sentences as "That was the last thlhg 1 wanted to do" s
(67) #C'était la dernidre chose que j'ai voulu faire,
N _
The learner.uses a preterit in French because "wanted"” is a -

past preterit in"English, He does not realize that the
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effet de sens of j'ai/j'aig voulu are quite different from

je_voulais, (J'ai voulus [ tried: je voulaiss I wanted),

S 5 I 3 Use of present for future
' §68) #J'dcrirai quand j'ai- plus A vous dire,

The student has made an error in not u51ng the future
tense in F;fnch in the verb of éhe §ubordinate clause. intro-
duced'byvﬁggng: In Frqpch. because the verb in the main
clause is in the future tense, the whoie event is viewed

‘ e
as hypothetical, and the action expressed by the verb in

the subordinate clause is simultaneous with tﬁat'of the verb.
in.the main clause, In English. however, we wouid normdlly
say, "111 write’vou when I have more news tovtell youw
u91ng a future form in the main clause and a present in the
dgpandent clause, Perhaps this is because there is no
ambiguity of time because the time' has already been established
by the pfincipal verb, but more likely it is because the
present (or'non-pnlt) in Engliéh may rgfer to the whole of
non-past time, there being no future tense as sﬁch (the
future'is'represented modaliy. not by'the'tense system)

Thus 1nterfer9nce from the English verhal system 1s o

the 11kely cause of the error in example (68) above, - .

» . . ' -
5:5.1,4 Interference from the progressive form in English

(69) *I1 faisait chaud et la lune était brille,

~

At first glance this error seems to be a rather strange
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one, bvcause the learner hag, in one clause, used lhe mecr-
®
fect tense correctly, and in Lhe other clause haq unnd it

'incorrectly. The choice of imperfect is correct For both .

clauses, but ifh the eg%pnd clalse the morpﬁoloniéal form of
the  verb” is incorregt. . e -

Judfing from our data, it seemed to us that many students
agsociate the "was" form with the notion of the imperfect, .
Consequently, the learnee knows that to render in French ‘ "

"it was warm", he has to use an imperfect tense, The use

of the verb faire as the ?weat er verb”‘is taught early in

" the .course "of study of French as a second lanfuage and . much

pract1ce is glven in the use of the various tenses of_this'
verb, Therefore, that may account in part for the student's’
having chosen it correctly fer~the fifst clause.

In the- Engllsh version of the second clause, "the mobn
was shining", we have a past. progreasxve. mhe learner 1dent-
1f1es the “was" with the imperfect, but does pot recognlze
‘the form "“was shinlng_fﬁsca verb in the progre581ve form
which is rendered in French by the simple 1mpe££Eeu tense
of the verb r;l;eg. Inéteed. the student takes fhe forh
"was" as the imperfect tense or the verb "to be” (étre).
and_translates it into Erench as ggglg. Then, what *o do
with "shining"? One would perhaps expect‘that he produce
the fe}m. ri;lant, buE either he doee'not know that “shiniﬁg"
is a present particlple. or else he does know this but does

not know how to form a present part1cip1e in Prench, The .

form that he eventually produces'is the third person singu&ar.

.
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pregent ‘enge of the verb briller, and thua his clauge be-

comes *la lune était brille,

’ . i
. ' . RS '
W -~ v
L]

5,5.2 Use of prcSent participle for infinitive | .
: ’
(70) *Aprds ayant couru lonptemps. je suis arrivé .
.o - ' & la ferme,’ C -

. ¢

R The learner oupht tcubave used the infinitive avoir

lnstead cf the present parthlple ayant, because only the
preposmtlonvgg may be followed by the verbal form in -ant.

The interference which cmused the error seems to be ‘due 'to

the fact that English would.uée lhe present participle (cr .

verbal ndunf in a comparable example: "after running ..."
(renavdless of whether past or future time were implied).
| However,ithe semantic content of apras reQuires that anter-
iority be expressed, either by a tense of ‘the verb or an
aspect of it, Slnce the infinitive does not have teﬁseﬁ“o '
we have'fo rcpresent tﬁe anteriofity,'and thus the past,
through the syetem of aspect -‘ie yiew the event as being'
hypotheylcally completed and transcend the event time, thus
produ01ng the paSt 1nf1n1t1ve avoir couru.

(71) *Nous avons pasae une heure regardant les
chefs d'oeuvre.

The student could: have written a correct sentence b§
inserting.the!prepoeition -en befcfe regardenty because, as
we have said, en is fhe.dnly preposition which may. be follow-
ed by a form in -ant, Or, another way of writihg this

sentence correctly is to use ;he‘preposition 4 and an .

T
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1nf1nt iVO. thuq ﬂiVan nous avonsg passé une heure A regarder .,.

is 1ntenh1vo - “"by lodk1np at”', Ene oLher, the iorm in -ant ¢

3

is ac01dent1ve._ hpe prep051§?on a expresseq the 1ntent1?n.

A
The duratave aspect.pf?the prgsent partmqtple 18 @ot 1mpo t- Tsf

A Ry
ant heré bﬁgause oi Jhe semantlc cogéfnt of the verb Qgsser..” :

o :
What ;s 1mportant i; how the J‘Ur wa spéﬁt - what event took -

72} 4
up the hour's time, Engllsh. unflke Erench. uses tthe | resent .
& n
particlple t0'oover ‘both the Lntentlve and ‘he accxdegtlve '
<@
aspects, hence the xnterferende which cuased the above error.

. .y e
5 5.3 Voice * ‘
) According to Grevu!’e "les voix sont les formes que

-prend le verbe pour exprlher le rdle du sujet dans 1 acrion“
(196&:5&?). French generally recognizes three cdtegorles

of voice - Active, passive, aqd pronominal, i.,e, middle,
English-has t#o categoriés - active and passive, »Péﬁsive
voicd?is marked in French by the form &tre + past pa:ticiple[
gnddin'English‘bthhe verb "to be" +-past participie,"The
form of the paséivefﬁs thus similar in.both languages. How-
ever,. from the errors in'the ﬁéssive that we eiamined it T,
seems that many students have problems with the passive vgice

in French. and it is possible that these errors are due to’
‘a confuslon'bptween the past~form of the.p3831ve voice in
English, e.g. "I was impressed", and the impérfect teﬁse .

active voice df French, .e,g. J'imgressxonals. The studenf.

when translating a form such as "I was 1mpressed“ is

Ev S0
P A

St

.14 LR S




occurs in the followlngt , o
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[
influenced by the "was" form, which he agsogiates with the

(72) i'J'irnp):'es?.sioa‘:piﬁs . |
1nstead of j'ai eté'/ ét 4 fus xmpre5510ne. A

-

Another error sxmilar to thms. and with similar cause,

imperfect tense, So he writes a form like

(73) \*La«méison construisait l'année deggiére.

The problem with the passive voice in French seems only
io occu;ﬂhith ﬁasé tenses; especially those iq which the
English form is constructedwith "was", This is the'tjpe
“he was killed“. which would generaily Be ﬁis-tranelated.

by the learner as il était tge. maklng no dist¥netion be-

tween the 1mperfect tense, the passe comgose, or tﬁ% pass

simple, Other tenses of the pa581ve generally seem to be
rendered<qorrectly,1n French,

. ‘:
5.5.4 priliaries o " T

. .. o
. Auxiliary verbs are those that are used with other'

verbal fdrms. They include avoir, g;xg ggzg;n pgnxg;; ‘ “f
vouloir, saveir, aller, faire, venir in French, and "do",

“be", "have", "can", "may", must"! "shall?" wlll".- pught“. -

- and need in English, - ' e e .

Guillaume says that ' \
to . AN - iy :
"Dang toutes lesé}angues, les verbes auxiliaires sont
. des verbes dorft Jla genése matérielle, interrompue
- par un achdvement plus rapide de la“gendse formelle,
* Yeste en suspens, ne s'achdve pas et appelle, en

v consequence. un cqmplement de matidre qui ne peut

_venlr «eo que de ltextérzeurn d'un autre mot” (1969 78)
| I .

T Y,
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M i
"according to their functionss

1

In other words._Guillaume is sayinh that auxiliary’ T
) ! .

verbs have gframmatical meanins but very little lexjcal mean-
- % ..
ing,"agd that in the total verbal piece the lexical content
. ) .' - o ‘ . N : ) .
comes not from the auxiliary but from the other .verbal formdﬁ
. 8 iy ‘ e, s ‘
with which the guxiliary is uged, LA
N [ . Y . ) ' . ’
Guillaume's definition giveS‘uswphe notioml impact -
. - ¢ » . '

‘of auxiliary verbs, ﬂgftﬁurﬂ'and Zumthor define auxiliarigs

*
1

Q'f" ) ) ) .
",.. la, flexion verbale en frangais moderne comporte
deux séries de formess les unes dites 'simples',

les autres °‘composées', .Ces dernidres sont
constitutées d'un verbe 'sémantiquement incolore,
dit.auxiliaire, 1ié & une forme modale impersonelle
(infinitif, participe présent ou pasgé), Ces temps
composés doivent (en vertu de-leur origine historique,
et leur valeur propre) &tre distingués en déux groupes:
d'une parnt, ceux dans lesquels l'auxiliaire Ysurtout
devoir, aller!’'venir, sortir) est 1ié & 1'infinitify
d'autre part, ceux dans lesquels l'auxiliaire (&tre
ou avoir? est lié au participe”passé..."2(1958:183}}{

We have attempted to clasgify the errors in auxiliary
. . S At Aatal ‘
verbs' under two headings:s errors in":

(a) .gpammafical autiliarieé - avoir and gire in
‘ ' Frenchy fdd“. "be" ard "have” in Eng}ishJ'l
{v) lexi@alhauxi;iaries.f devoir, aller, fajre, 'pouvoir,
 vouloir, sévoir, and xggié in French; "can", Jmﬁy".
"must*, “"shall”, "will", ;bught“.uand'“néed“ in

English,. . o

We shall now examine some errors in both groups, -

.
‘. ."' N - “.

P

5.5.4,1 Grammatical

(7W) =+, jé leur ai dit quf J'ai eu, -
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.

'y L)
(Contox? - "he police asnked me if T had¥geen the thievep
nnd | told lheﬁ [ had",) Here the learner has used the
pagaé éomposé of the auxiliery. avoir, as if thias werec a

] .
finite verb,” This error is probably due to interference

* from English, where the pést‘pafticiple which completes”

I had“ is no* expreased, It is permissible . in Enﬁl;sh to

omit the past participle and 91mply uge the auxilxnry. But

. ths is not normally the case in French One canlask in
Envlish, "Have you seen this‘film?" ahd obtain the angwer.

“Yns. I have", or "No, I haven't”, But one would not answer”dﬂ

in Prench. #Qui, j'ai, or "Non,’ je n' ai pas, to the question.

Avez-vous yu ce film? When avoir is used as a full verb 1t

is renerally ﬁransifiVe.and is followed by a direct oyject.

. in which case it expresse§|the notion 6f poséessioh, But
when'ggg;: is an auxiliary‘verb. the past participle bf the .
other verb (which carriqsmthg léxiga& content)vmust be ex- -
pressed, because avoir has very little seﬁantlc content when

useddgs an auxiliary verb, This is why the #,,, j'ai eu of

example (7%) is an errér, .

(79) *Les étydiants s'ont faché contre 1' introductlon
‘ d'un nouveau systéme, ,
[ . d 4 ) ‘
(76) * -#%Jem ai amusé bien, " t. .

In both the above ex?mples the wrong grammatical
auxiliary has been uged (should have been dtre), In these
cﬁaes. however;;the_gourcé;bf lntérferehce is not immediately
evident, It may be from English because English uses "have"

o~

as the aux1liary with reflexive verbs. e.g. she has washed

herself, and also with irbs which are not reflexive in

. . - . . A
. ‘ ' ’
. .
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Ennlinh but are fanrench. such an the verbé invtho aone
two examples, CBut the Lnterfafence may &lso be due to over=
ndneralization;Sfrchd use of the auxiliﬁry aveoir in French,
. . ~as most verbs take avoir, The student may not have known
thht'prqnomiﬁal vggbs &tre as auxiliary, or he may have known
o)

" it, bu% not practised the usage sufficiently to master it, -

5,5,4,2 Lexical

(77) *Nous avons pu voir les arbres...

'The error here is in the use of the auxiliary pouvoir.
Becauseytpe English sentence has "could", h\bgst tense, the
learner uses a past, nous_avons pu in his sentence.b.But
with. the Yefba‘6$ percepti?n, pouveir is not expressed in
Freﬁch Vinay and Darbelnet sayy |

"avec les verbes de perception 'can ne se traduit
" pas, Son passé, ‘could' se rend alors par 1l'im-
A parfaityp . I can hear him' - Je l'entends, °'I

could see the lights of the city in the distance' -
' Je voyais ,au loin- les.lumidres de la vixTe; (1958:139)

| "y | -
L ~ ﬁe verh’ gouvo;r and "can" both express capacity and
- posszblllty. ‘ith the ,verbs of perception, "l’Ldée de
e

}
{ ‘ "ﬁf g! 0531b11‘;e 1mp1}c1te en francals et explicite en anglaia.
° .

; R ..'q} nay and Darbelnet 1958:1&0) Therefore, fherdl1s no need

E i to~usb the verb ;L_gg;;‘in exaniple (?7) above, ,”.i}fl; ‘
L, N . . -,‘W v
E . N 78) #Je n'ai’.jamais appris par coeur, comment on
P o commencerait et finirait un 1ettre.

- .(Contexts ¢,.. how one . should begin and end ,,.")

| 'The error in the use of the conditional in the studént'e.
. ,‘. | . 7 . ’. . [
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sentence nseems to be due to inéérfcrence rrom,ﬁhe form "should"
in the énnlieh sente;ce. The .atudent senses that "should
berin" is in some way a condifional. 80 he uses a conditional
in his‘corresponding French sentence, He does not realize,
‘however. that “shoh;d" is an auxiliary verb in Enslish and -
_ that it "indicates that- the subjecut '15 under some kind of s
i constraint, the constraint of duty, circuqstances or the will
pf anothef.; (Curme and Kurath 1§31|367}. This constraint
* must also be expréssed in Frénch. in the above example by
means of the verb deveir, because the conditional of the verbs

commencer and finir will not express that constraint,

5.6 . One ‘grammatical form in English for several in French
(79) *Ils peuvent préparer éux-mémes; ' 1 |
In the above example the learner ﬁas used an emphatic
pronoun instead of a reflexive'pronopn. This seeﬁs due to
the fact that in Engiish, tﬁe~pronoun "themselves" can be
both emphat1c and reflexlve. whereas in French there are'
~ two different pronouns _gx:mgmgg and se, -
‘ The fact that one grammatical form im Engllsh often
’corresbonds to several in Prench is a frequent aource of
interference for gnp,learner. Our data 1ncluded many ¥ ampleév,
‘of errors due to this ﬁind of 1nterference. We will list B “:
some of ‘these examples and also give the source of the inter-

L

ference that’ caused them._

.""
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Examples (with rolevant Enslish Posnibilities
errors underlined) 1n French
(#0) *Donnez-les le liyre. theme_s :
, . i::::::::, les; leurjy eux
(81) *11 est difficile d them .
. parler avec leur,
(82) *Les plug étudiants most le/18/les plus
' font leurs devoirs (+ adj.)
chez, eux, la. plupatt
(83). *I1 y avait beaucoup: some., quelques -(adj,)
d'étudiants dans 1la a few uelques;un(e)
classe, et quelgues o ' pronoun
+savaient déjd parler : ; :
frangais, ' .
(A4) *#Voild vingt dtudiants  there is/ ilya
dans’ notre classe, ~ are voild

There were also numerous errors (as examples 85-88

following will demonstrate) caused by interference from the .

English system of "that", English has a single morpheme;
"that", which may belﬁng to five différent g;émmatical
cafegories.'yhereéstrench has about fifteen different .
morphemes covering the same items, In other worda. the mor-
pheme "that" may have. as many as flfteen dlfferent equzvalents

in French, not counting 1diomat1c construct1ons such as

' Enslish "and that was that™ 1- French plus r1en é dire. where

'there 13 no word correspondlng to "that'

. .
The following is a llat of the different uses of "that"
in English and their equzvalents in Prenchs o »
Demonstrhtive adjective - that book : ' ce 'liiri-e oot
- : "that house -cette maison
that child cet enfant
Demonstrative prbnoun " Give me that, - Donnez-moi cela,
: - - qa S
'y ‘ . celui-l13
celle-ld



Relative pronoun

(a) Subject

(b) Object (of a.verb),

(e) Object (of a prep-
osition)

Adverb

Conjunction

(a) Introducing noun
- . clause

(b) Purpose

(c) Result

The car that is
in front of our
house is my oio-

‘ter's,

The car (that) .

" I bought is' a

IFord,

. Where's the box
-that T put my

hat in?

The wall is not
that high, ‘

_ I think (that)

she is ill.

. Bring your chair

close (so) that
you may hear
better,

He was so weak
that he died
right away,

...that they

had to leave

Smce tl’ie smgle morpheme “that" may be u'd as
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La voiture qui
eat devant notre
maison est celle
de ma soeur,

La voiture que
j*al achetéde
est une Ford,

o) est la bofte
dans laquelle/ol
j'ei mis mon

. chapeau?

Le mur n'est - pas
si/aussi/telle~
ment haut,

Je crois qu' elle
est malade,

Approchez votre
chaise pour que/
afin que vous
entendiez. mie

faible qu’ il
mourut tout
de suite,

...de sorte qu'il
fallait partir.

¢
-

V'several parts of” speech, the learner does not have to think ‘

'about any %Pecial form to use for any g1ven categbry. How=

ever, when he wrxtes h1s Prench sentence hh has to decide

whether the 'that' he.wants to express is a demonatrative

adjectlve or pronoun. relative pronoun. eto.

Then when he

has. decided on the approprlate category. he has to make

choxces w1th1n‘that category as to gender, number, and °‘case,




.
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The choice uyshem is much simpler in English, and so the v
student becomes confused n confronted with all these
different forms in Frehcﬁ. So the errors in the examples-
85-88 followins are due p;imarily to confusion between forms

in French resulting from interference.from the. Ensligh system

. of "that":

(85) *Qu'est-ce que Jje feral évgc tout ¢a temps?'
(R6) *Qu'est-ce je ferai avec tout giie temps?
(87) - *#Ces gens ressemblent bien & ces-1l3 je me souviens,

(88) *L'homme qui je connais ,,.

5.7 Corifusion of parts of speech
The [inal section to be discussed in this category of

ﬁorphology is one in which we have put errors caused by the

~ student's writing of an adverb for an adjgctive.‘a prep-

osition for'a conjunctidn. ete,
" (89) *J'ai été au chez,
(90) *Je resterai chez,
The 1nte£ference here is that the student has equated
gggi.rith.phe morpyeme ”home y in all its uses, In‘exampla
(89)@ (English:t I was at home) the student sees the prestit-
1on "at” followed by the nbun “"home", so he attempts to make
’a'houn {pom the*prepoaition ghgz, producing ®*le chez,’ which
he then precedes by & and Wlth the contraction of g and lg
to gau, the resultant unacceptable form,;s *au g g

In example (90), the learner seems to realize that in

P

L

~.r‘ F1d
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+ the English senténce, "home" is used adverbially, therefore .

he tries to use chez adverbially in his sentence *Jo resterai
. L 4

chez.
| In both examples, the morphological form chez, which’
is a preposition, has heen used a8 another part of speech,
(91) *Le voyage a été vite, M
The learner who Qrote this senfence-has used the adverb',
vite instead of the adaectlve gg1de. because of interference
from Enrlish, whgre "faat" can be both an adjective and an
adverb, .
(92)' *I1 court jusqu'a ii tombe, _

Here the 1eafnerrhas made an error by'using the com-
 pound preposition jusgu;a‘iqgtead qf‘the.conjunction ;usgg‘é
. ce_gue. Whereas Engliéh does'not differentiate in form be-
tween "untll" as a prepogsition and "until” as a congunctlon.

Prench ‘does make this dlstlnctlon. as 111ustrated by the
‘followingt . . N o : .
« (a)' Stay ﬁntii three o'clock;’ |
(b) Restez Jusqu’ & trois ‘heures,
(é). Stay until he comes back,
'(d) Rest|§ jusqu'd’ ce qu il revienne. )
So the 1nterference from his mother tongue, Engllsh. caused
the learner to make the errgr in example (92) above.
There are many other examples of errors of ‘the above '
thpe, where the student has used a prepositlon iﬂhtead of -

a conjunctlon. "The following are some dxamplesn

(93) *Apras nous flnlssons notre dev01r. allons
chez Pierre, -

- (apr®s instead of agrég que )



(9%)

(95)
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*Pegndant vous édtiez en vacances, il v a eu
un accldent. au coln de 1a rue,
(pendant instead of pendant que)

#Nous avons pris nos billédts deux jours avant
nous oommes partis,
{avant instead of avant que)
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6, .CONCLUSION

' The aim of this study has been to examine certein ag=-
pects of the-interference.of the mother tongue of a group
of anmlopnone etudenee on their. learning of French as a
second language, Qur method was Lo analyzemvariouéitynee'
“of errors made by the7studenta. in the hppe.of determining
how the system of their native language interfered to cause
' these errors, |

Chapters 1 and 2 introduced our thesis and briefly _
discussed ﬁhe'concept of interferenoe. .We‘then proceeded
to_an analjsis of the errors which we had classified, accord-

ing to their nature; as being either lexical, syntactical
or'morphological? ‘

In Chapter 3 we examined lexical errore. which we had '
sub-divided into areas of lexical multiplicify} basic
diotiohary errors, errors in phraeailverbe and errors in
'1diomat1c constructions. K '
| Chapter & treated eyntactical errors. Wh10h. for this
, study, were thoee of word or’ler. omiseion of artacles gnd :
prepositions. and unsatiafaotory conibinations of &ords. v
' . Chapter 5 then presented our classification and analyeie
of the errors in morphology._. Many of these errors were by
far the most difficult to analyze in terms of native lang-
uage interference. We examined errors “in the following
cafegoriesn gender, concord. participles, infinitivee, pro-
noune. prepositions, the verbal ayatem - tense, voice and:

auxiliaries - and confusion of parts of speech,
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Ag a reoult of havtnn done this study, we are oven more
{irmly convinced that gﬁe systems of English do interfere in
certain respects ﬁhen etudents are learning a- second language,
baecause the‘patterns of their mother tonmue are so deeply
ingrained, so much a part of the learner that they come to
the forefront when he has to make a choice of structure 1n
the target lariguage, We also feel that the 1nterference is
likely to be strongest where there is a partial 51mzlar1ty
between the structures of the two languages, Iw other words,
we believe that if the structures of the source language and’
of the target language are glither very similar or very
different, the 1nterference will perhaps not be as great as.
when there is ao overlap of certain areas, either lexicon.

or grammar. Therefore. when there are certaxn simxlarities

_between the structure of two given 1anguagee. theee sxmilar-

ities, and aleo.tbe differences. between the structure need

~to be edbhaeized and practised in the classroom, This teach-

-

ing method 1e based on the hypothe31s of contrastive ling-
ulstlce. which, according to Carroll, ".,..is that wherever -
there are elmilaritiee. learnxng can be facilltated, and

wherever there are contrasts. learnlng may be- retarded or
]

_interfered with," (1968:114) We euppOrt this definition,

but we would underline¢§he'word mav, for. surely tﬁe'eimple

fact that language structures differ does not neceesarily

imply difficulty in the learning of one or the other of .
them. But if the teacher neglecte‘to point,out these differ-
ences, then the student may very well‘have a learning'problem.

’
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We would also like to note that the teaching of idiom
seems to be one‘of the mést badly nerlegted areas of second
lanéyane neachi;g.'and needs to be taught at all levels,

| The teachér ma& very well benefit from a contrastive
grammar, a teaching grammar, bgsed on linguistic principles,
. which ﬁoinés out the differences and_aimilarities between
the structures of the-two.languages. and stressing areas
where there are parfial similaritiea ahd'differences. it
would be in these areas, 8.5, idibm, choice of tenses, syn-

tax, that the learner would require the most practice.

In conclusion, we restate our belief that'native

"language interference is a primary cause of many errors pro-

duced in the learning of a second language, but we realize -

that it is certainly not the only cause.‘oihefs being oyér-.

generalization of patterns from_@ithin the target languagé*;

itself, and also the'incomplete learning of a particular
structure, , . | |
We hope'that.thia study-has Yeen able to shed some .

light on this very obscure concept of interference,

3

-

, . ' .
I . .
. : .
. . . . .
A ; Y . .
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., APPENDIX TO CHAPTER 3

" Lexical multiplicity

Confusion betweens J
‘apporter; emmener -~ to carry
direj raconterj parler ~. to tell
peuple; geéns; personnes - people
marcher; aller & pied; faire une - to walk
promenade; se promener
partigs quittery lalsser - to0 leave
-~ jour; journée - day

soir; soirée* - evening
matin; matinée - morhing
savoir; connaftre - to know

- )

Basic dictionary errors .
(96) ®de courses nuages (i,e, racing clouds)

(97)- *Les congés tombaient des’ arbres, -
(i,e. The leaves were falling from the trees.)

(98) *Le dfner est servi autour.dé 6 or 7 h, &
(99) *ia°chaﬁce (i,e. the chaﬁéey

- (100) *Nous ‘camblons la carte au bureau du accuell
‘ (i,e. We fill in the cardu...)

‘ (101) *Ma famille me prend A la gare.
(1021 “Nous avons eu un bon temps.,

‘(103) *un événement excitant R

""k104) #Je prends un voyage, |

(105) *les constructiong (i.e, the buildinga)

'(106}. 'un goulet (i, e.,a sound. a, noiae)
(1972"*des habits propres (i.e. the proper clothes)
(108) * *Cela le fait. furieux. C

(109)'f*en voie (i, e. in & way), o

' (116). *Au front du cortége... (i e, pt the head of
. ..  the procession) .



)

(111)
(112)
- (113)

(114)

(115)

3.3 Ph?asal
. (1i6)
(117)
- (118)

<T/ J. 4 Id;om

(119)
(120)
(121)
(122)

(123).
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#places d'intérét . : \,\

%T1 étalt le fois aller A la pare,

#_ .. un complet rris comme en portent les
dcclésiastiques chauds/ardents, -
(L,e. ... hot ,clex.:m_n.nan)

#I]1 s'était amusé ggaucoup la vue de sa
fendtre, (i,e, He enjoyed the v}ew.)

*J'al ordonné uh qteak.

.
verbs - ;' ' o
*dépendre sur
*demander pour - o o , ~

*chercher pour o
. ' ' ‘

*soug son souffle - -

*gous sa haléine

*la raison podrqdoi

*I1 n'avalt paé dormi un clignement a'oeil,
(i,e, He.'hadn't slept a wink,) _.

#Aussi loin que la France est inguiet
(i.e,.. A8 far as France is concerned,,.)
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9, . APFENDIX TO CHAPTER 4

4,1 Word ofdp;
| 4,1,1 Adverbs K |
| (124) *Je suls allé gouvent & .,,
(125) *Je fais connaissance aQec beaucoup de
monde déjA, \//
(126) *Je m'ai amusé bien,
4,1.2 k&jec?ives
(127) #C'était le plus haut pouvo'i'r.
_ (128) *La région a accepté un assez triste air,
- (129) #*J'aime A voir la belle terrain at les'.
) - grandes foréta et ouverts champs.
| (1305' *J al une vente maison, *
- (131) *ia-piuarcéléﬁré église
(132) *la pufe fhjhutice‘de cela o
. (i}j{';*Un ;utre_trﬁs-ihpofj?nx réi;on..:.
u 1.3 Negatives o . ’f S
(134) 'Je ne suis allé pas\... | ' 1\‘
(135F *... de n’avoir pas été ... |
(136) “*Ne porsonne est venu._,, . '
‘ u 1 4 Conjunctive pronouns ' :-ﬁ-§-:
(137) #Je faut de voir vous aﬁrbs la.clnase.
| (138) 'Il a nous conduit, - L
‘o : ) (139) '11 8. demandé moi ves e e
- B P L o

ap——
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l,2.- Omission of definers

‘. ' (140)° *J'aime 4 voir .,. les grandes foréts et
' ouverts champs,

(141) *Autrds membres de ma famille,,, .
(i,e, the other members. .. )

(142) #*J'étals triste de quitter Canada,

_ , (143) *Nous prenions notre petit déjeuner du café
R it et croissants,

i )
.

4,3 Omission of prepositions
: 4-301 é_ " ‘ o . \

e ] (14l4) *J'aime beaucou 1a p#che mais j'ai &té -
o — ) séulement 1a péche deux ou trois fois,

[ 4

(145) ~ #Nous étions une semaine recevant prét aller,
"L, .2, We were a week getting ready to go.)

(;u6)' *L'extérieur la maison {i,e. outside the house)

(147) *Nous avons commencé rire, -
F4

. . © (148) *Les gens qui habltent ces tout maisbns sont
A vraisemblable celles que je me rappelle.

LY

S (149) g enseigndrai des. enfants.

<-(150) *... un fracas qu'on pouvait entendre un mille
' “guloin, (i,e, a‘noise that could be heard
a mile away.), .

,u'..a;é do . S S

. A ., . . e
S (151) *Il est facile aller aux villages.

(152) *3rai oublié Yenir eén claase. ‘

5(153) - *Lg_rue ol nous ‘jouions maintenant est .
- © -_viaiment que un cul-de-sac environ cinquante
v . - mitres: long. s :

l.w o cisg) ¢J°a1 tant devoirs.
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I,4 Unsatisfactory constructions

" (155)

(156)

(157)

(158)

(159)

. (160)

3

(161)

(162)
'(;éa)

(164)

(165)

A

',-'('16_6)
“(1§?)‘

(168)

(169) |

)

1 {171)

'*J'ai décids de v&

»*Il avait l'air de fatigue.,f

#11 étalt difficile apﬂrenént .ma vois autour
de, (i,e, It was difficult 1earninp my way
around, ) .

#les nouvelles programmes (i,e. the news
programs)

f

#Nous avons pu voir les platanes du boulevard
St Michel commencent & s'effeuiller,

*Le film a été trés excellent.
#Ne ne peux pas m'empécher d'étonner,

*... par glancer ...

*Aussi préaents aux grandes occasions sont
les ving fameux = blanca d'Anjou. rosés de -
Provence. .

*Je n' ai jamais été dans un avion avant

*Et juste quelle sorte d'homme est-il A
mériter telle nomenclature° :

‘#La vie n' a PAs été facile avec lui s

*Elle incommodait tout le monde par pendant

" son blanchissage le dimanche, =

*Je.doié~aller peur aid3¥ mon pare.<

*Maintenanx edt urie bonne occaaiqn d'attraper .

. sur tout ton_ vail. o

"Elle habite pras o moi. : K ,

de\mon voyage. o T : o

[
‘,'. .

*CQIa fait Terre Neuve différent de’ tout le i f
Coee Caﬂ&dao . . : .

.i - ~

écrirg,et-voﬁé raconter -

s .
[
‘i

.. rum———r "




- 5.1 Gender

(172)

(173)

< (174)

{175)

" 5.2 éongord_

10, APPENDIX 1O CHAPTER $

#Jn autre ... raison ,..
.*un lumidre
#1a belle terrain

‘*le circulation

25.2.1 Subject and verb ...

(184)

',

*Le livre que j'ai beaoin _

, .
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(176) *Laé?pl}ce.ont commenc§ chercher pour moi,
(177) ;Les avocaﬁs;trayaillé_...
' (i??) *La fqmikle.;ént cer.
.‘-1 . ls;éiz Adjective and noun ‘
| .; (179) 5toﬁtee'mea anis
* (180) *les petitea vilIagea'
B ;; '5(131) _*mon études '»;:” : : ‘
‘ *. : | (182)‘ *ce nnit | :
- 5 3, 2 Relative pronouna F
‘;‘%%} . | . -.(1?3) *L université & qui j etudie...
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5.4 Prepositions

5.4,1 en
(185) #en Terre Neuve
('186) *Je n'al pas trouvé en de province les
‘gentils gens que j'al trouvé A Terre Neuve,

{187)

5.5.1 Tense

*Ja n'al jamais voyegé en un autre pays,

>

5,5,1,1 Use of pagsé éomgosé for ﬁresent

(188)

© . (189)

5 5 1 4
(190)

-_(191)

' 5. 5 2 Use of

(192)

(193)
(19#)

L (195)

¥y ;E“%u ta maladie depuie 8ix jours,

*C' est la premiére fois que j‘ai mangé .des’
épinards. _

‘e
[

Interference from the . progressive form in
E@Sh o o, ‘
*Mon frere est travaille A Vencouver.
*Mercredi dernier je m' aeaeyai*&a e =
\ métro.‘quand quelqu'un m'a touc 1'époule,
(i, e, Last Wednesday, I was eitting (seated)
" in the subway...)

.
r

present perticiple for infinitive

#*Nous avons vu un hélicopt&re volend eutour
prés de nous, _ .

*Il est dur restant au lit.
'Il avait conscient a étant poureuivi.

*J'ai un:peu de difficulté parlent fransaie L
avec leur, - - '

.‘_i'
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(196) *La toute companie ont dédié eux-mémos A&
la tlche d'amusante les enfants, .

5.5.4 Auxiliaries

5,5.%4,1 Grammatical : . .

+

(197) *,.,. s'avoir contracté...

(198) *J'ai allée...

”

(199) *Les étudiants s’ ont fAghé

v N - -
(200) *Je m'al amusé bien.
i ..
Y e '

‘.
S > : .
\ : |

. \
. . : .















